BANK BRADESCO Form 6-K December 13, 2016

UNITED STATES SECURITIES AND EXCHANGE COMMISSION

Washington, D.C. 20549

FORM 6-K

REPORT OF FOREIGN PRIVATE ISSUER PURSUANT TO RULE 13a-16 OR 15d-16 UNDER THE SECURITIES EXCHANGE ACT OF 1934

For the month of December, 2016 Commission File Number 1-15250

BANCO BRADESCO S.A.

(Exact name of registrant as specified in its charter)

BANK BRADESCO

(Translation of Registrant's name into English)

Cidade de Deus, s/n, Vila Yara 06029-900 - Osasco - SP Federative Republic of Brazil (Address of principal executive office)

| Indicate by check mark whether the registrant files or will file annual reports under cover Form 20-F or Form 40-F. Form 20-FX Form 40-F |
|---|
| Indicate by check mark whether the registrant by furnishing the information contained in this Form is also thereby furnishing the information to the Commission pursuant to Rule 12g3-2(b) under the Securities Exchange Act of 1934. |
| Yes NoX |

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

(x) Controller's

Openning Balance

Group and Family Dependants

| | | % of participation | |
|--------------------------------|-----------------|---------------------|---------|
| Type of Securities/Derivatives | Quantity | Same type of Shares | Total |
| Common Shares | 2,028,821,219 | 73.0632 | 36.5316 |
| Non-Voting Shares | 62,644,292 | 2.2559 | 1.1279 |
| | Closing Balance | | |

 Type of Securities/Derivatives
 Quantity
 Same type of Shares
 Total

 Common Shares
 2,028,821,219
 73.0632
 36.5316

 Non-Voting Shares
 62,644,292
 2.2559
 1.1279

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

| Company: Banco Bradesco S.A. | | | | | | | |
|-----------------------------------|--------------------------|-------------------------|---------|-------------------|--------|-----------------------------|---------|
| Group and Family Dependants | (x)Board of Directors | () Board of I Office | | () Aud Commit | | () Technica Advisory Age | |
| | | Openning I | Balance | | | | |
| | | | | | | % of particip | ation |
| Type of Securities/Derivatives | | | | Quant | ity | Same type of Shares | Total |
| | Common Share | es | | 16,6 | 97,974 | 0.6013 | 0.3006 |
| N | Ion-Voting Shar | | | 26,7 | 93,598 | 0.9649 | 0.4824 |
| | | Month Mo | vement | | | | |
| Type of Securities/Derivatives | Broker | Operation | Day | Quantity | Price | Value in F | ₹\$ |
| Non-Voting Shares | | Buy | 18-Nov | 18 | 28.69 | R\$ | 516.42 |
| Non-Voting Shares | | Buy | 18-Nov | 399 | 28.71 | R\$ 11 | ,455.29 |
| Non-Voting Shares | | Buy | 18-Nov | 1,289 | 28.72 | R\$ 37 | ,020.08 |
| Non-Voting Shares | | Buy | 18-Nov | 81 | 28.73 | | ,327.13 |
| Non-Voting Shares | | Buy | 18-Nov | 385 | | • | ,064.90 |
| Non-Voting Shares | | Buy | 18-Nov | | 28.75 | | ,405.00 |
| Non-Voting Shares | | Buy | 18-Nov | 499 | | | ,351.24 |
| Non-Voting Shares | | Buy | 18-Nov | 491 | | | ,126.07 |
| Non-Voting Shares | | Buy | 18-Nov | | 28.78 | | ,928.68 |
| Non-Voting Shares | | Buy | 18-Nov | | 28.79 | • | ,174.55 |
| Non-Voting Shares | | Buy | 18-Nov | | 28.80 | • | ,507.20 |
| Non-Voting Shares | | Buy | 18-Nov | | 28.81 | | ,202.50 |
| Non-Voting Shares | | Buy | 18-Nov | | 28.82 | | ,929.30 |
| Non-Voting Shares | | Buy | 18-Nov | | 28.83 | • | ,779.06 |
| Non-Voting Shares | | Buy | 18-Nov | | 28.84 | • | ,316.60 |
| Non-Voting Shares | | Buy | 18-Nov | | 28.85 | | ,500.60 |
| Non-Voting Shares | | Buy | 18-Nov | | 28.86 | • | ,329.00 |
| Non-Voting Shares | | Buy | 18-Nov | | 28.87 | | ,010.45 |
| Non-Voting Shares | | Buy | 18-Nov | | 28.88 | • | ,703.92 |
| Non-Voting Shares | | Buy | 18-Nov | 81 | | | ,340.09 |
| Non-Voting Shares | | Buy | 18-Nov | 104 | 28.90 | R\$ 3 | ,005.60 |

| Non-Voting Shares | Buy | 18-Nov | 83 | 28.91 | R\$ 2,399.53 |
|-------------------|-----|--------|-----|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 28.95 | R\$ 3,329.25 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 86 | 28.98 | R\$ 2,492.28 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 754.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,365.16 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,366.32 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 184 | 29.12 | R\$ 5,359.92 |
| Non-Voting Shares | • | 18-Nov | 159 | 29.13 | R\$ 4,633.26 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,634.85 |
| | Buy | 18-Nov | | 29.15 | |
| Non-Voting Shares | Buy | | 110 | | R\$ 3,207.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,216.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 5,310.76 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,669.43 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,474.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 5,608.32 |
| Non-Voting Shares | Buy | 18-Nov | | 29.22 | R\$ 6,369.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.23 | R\$ 8,885.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.24 | R\$ 10,380.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.25 | R\$ 11,934.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.26 | R\$ 7,080.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.27 | R\$ 4,888.09 |
| Non-Voting Shares | Buy | 18-Nov | 141 | 29.28 | R\$ 4,128.48 |
| Non-Voting Shares | Buy | 18-Nov | | 29.29 | R\$ 3,485.51 |
| Non-Voting Shares | Buy | 18-Nov | | 29.30 | R\$ 12,159.50 |
| Non-Voting Shares | Buy | 18-Nov | | 29.31 | R\$ 1,055.16 |
| Non-Voting Shares | Buy | 18-Nov | 121 | 29.32 | R\$ 3,547.72 |
| Non-Voting Shares | Buy | 18-Nov | | 29.37 | R\$ 6,314.55 |
| Non-Voting Shares | Buy | 18-Nov | | 29.38 | R\$ 205.66 |
| Non-Voting Shares | Buy | 18-Nov | | 29.39 | R\$ 7,905.91 |
| Non-Voting Shares | Buy | 18-Nov | | 29.40 | R\$ 3,439.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.41 | R\$ 2,941.00 |
| Non-Voting Shares | Buy | 18-Nov | 517 | | R\$ 15,210.14 |
| Non-Voting Shares | Buy | 18-Nov | • | 29.44 | R\$ 53,845.76 |
| Non-Voting Shares | Buy | 18-Nov | | 28.74 | R\$ 57.48 |
| Non-Voting Shares | Buy | 18-Nov | 44 | 28.75 | R\$ 1,265.00 |
| | | | | | |

| Non-Voting Shares | Buy | 18-Nov | 8 | 28.77 | R\$ 230.16 |
|-------------------|-----|--------|-------|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 96 | 28.78 | R\$ 2,762.88 |
| Non-Voting Shares | Buy | 18-Nov | 143 | 28.79 | R\$ 4,116.97 |
| Non-Voting Shares | Buy | 18-Nov | 1,089 | 28.80 | R\$ 31,363.20 |
| Non-Voting Shares | Buy | 18-Nov | 249 | 28.81 | R\$ 7,173.69 |
| Non-Voting Shares | Buy | 18-Nov | 863 | 28.82 | R\$ 24,871.66 |
| Non-Voting Shares | Buy | 18-Nov | 583 | 28.83 | R\$ 16,807.89 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 28.84 | R\$ 3,316.60 |
| Non-Voting Shares | Buy | 18-Nov | 155 | 28.85 | R\$ 4,471.75 |
| Non-Voting Shares | Buy | 18-Nov | 150 | 28.86 | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | 35 | 28.87 | R\$ 1,010.45 |
| Non-Voting Shares | Buy | 18-Nov | 59 | 28.88 | R\$ 1,703.92 |
| Non-Voting Shares | Buy | 18-Nov | 82 | 28.89 | R\$ 2,368.98 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,337.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 50 | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | • | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| | Buy | 18-Nov | 57 | 29.07 | |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | | | | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,633.26 |
| Non-Voting Shares | Buy | 18-Nov | 161 | 29.15 | R\$ 4,693.15 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,178.44 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,450.28 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 5,106.50 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,786.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,416.40 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 5,520.69 |
| Non-Voting Shares | Buy | 18-Nov | | 29.22 | R\$ 6,399.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.23 | R\$ 8,915.15 |
| Non-Voting Shares | Buy | 18-Nov | | 29.24 | R\$ 10,350.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.25 | R\$ 11,904.75 |
| Non-Voting Shares | Buy | 18-Nov | | 29.26 | R\$ 6,993.14 |
| Non-Voting Shares | Buy | 18-Nov | 171 | 29.27 | R\$ 5,005.17 |
| | | | | | |

| Non-Voting Shares | Buy | 18-Nov | 141 | 29.28 | R\$ 4,128.48 |
|-------------------|-----|--------|-------|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 118 | 29.29 | R\$ 3,456.22 |
| Non-Voting Shares | Buy | 18-Nov | 416 | 29.30 | R\$ 12,188.80 |
| Non-Voting Shares | Buy | 18-Nov | 36 | 29.31 | R\$ 1,055.16 |
| Non-Voting Shares | Buy | 18-Nov | 121 | 29.32 | R\$ 3,547.72 |
| Non-Voting Shares | Buy | 18-Nov | 215 | 29.37 | R\$ 6,314.55 |
| Non-Voting Shares | Buy | 18-Nov | 7 | 29.38 | R\$ 205.66 |
| Non-Voting Shares | Buy | 18-Nov | 173 | 29.39 | R\$ 5,084.47 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.74 | R\$ 28.74 |
| Non-Voting Shares | Buy | 18-Nov | 45 | 28.75 | R\$ 1,293.75 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.76 | R\$ 28.76 |
| Non-Voting Shares | Buy | 18-Nov | 7 | 28.77 | R\$ 201.39 |
| Non-Voting Shares | Buy | 18-Nov | 90 | 28.78 | R\$ 2,590.20 |
| Non-Voting Shares | Buy | 18-Nov | 142 | 28.79 | R\$ 4,088.18 |
| Non-Voting Shares | Buy | 18-Nov | 1,094 | 28.80 | R\$ 31,507.20 |
| Non-Voting Shares | Buy | 18-Nov | 250 | 28.81 | R\$ 7,202.50 |
| Non-Voting Shares | Buy | 18-Nov | | 28.82 | R\$ 24,900.48 |
| Non-Voting Shares | Buy | 18-Nov | | 28.83 | R\$ 16,779.06 |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | R\$ 3,316.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 4,500.60 |
| Non-Voting Shares | Buy | 18-Nov | 150 | 28.86 | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | 35 | 28.87 | R\$ 1,010.45 |
| Non-Voting Shares | Buy | 18-Nov | 59 | 28.88 | R\$ 1,703.92 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.91 | R\$ 2,544.08 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,337.30 |
| Non-Voting Shares | Buy | 18-Nov | 185 | | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 87 | | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 183 | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,633.26 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,751.45 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,120.12 |
| 5 | , | | = - | - | , , |

| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,216.92 |
|-------------------|-----|---------|-------|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 5,339.94 |
| Non-Voting Shares | Buy | 18-Nov | 296 | 29.19 | R\$ 8,640.24 |
| Non-Voting Shares | Buy | 18-Nov | 118 | 29.20 | R\$ 3,445.60 |
| Non-Voting Shares | Buy | 18-Nov | 193 | 29.21 | R\$ 5,637.53 |
| Non-Voting Shares | Buy | 18-Nov | 218 | 29.22 | R\$ 6,369.96 |
| Non-Voting Shares | Buy | 18-Nov | 305 | 29.23 | R\$ 8,915.15 |
| Non-Voting Shares | Buy | 18-Nov | 353 | 29.24 | R\$ 10,321.72 |
| Non-Voting Shares | Buy | 18-Nov | 411 | 29.25 | R\$ 12,021.75 |
| Non-Voting Shares | Buy | 18-Nov | 240 | 29.26 | R\$ 7,022.40 |
| Non-Voting Shares | Buy | 18-Nov | 168 | 29.27 | R\$ 4,917.36 |
| Non-Voting Shares | Buy | 18-Nov | 141 | 29.28 | R\$ 4,128.48 |
| Non-Voting Shares | Buy | 18-Nov | 118 | 29.29 | R\$ 3,456.22 |
| Non-Voting Shares | Buy | 18-Nov | 416 | 29.30 | R\$ 12,188.80 |
| Non-Voting Shares | Buy | 18-Nov | 36 | 29.31 | R\$ 1,055.16 |
| Non-Voting Shares | Buy | 18-Nov | 121 | 29.32 | R\$ 3,547.72 |
| Non-Voting Shares | Buy | 18-Nov | 214 | 29.37 | R\$ 6,285.18 |
| Non-Voting Shares | Buy | 18-Nov | 7 | 29.38 | R\$ 205.66 |
| Non-Voting Shares | Buy | 18-Nov | 173 | 29.39 | R\$ 5,084.47 |
| Non-Voting Shares | Buy | 18-Nov | | 28.69 | R\$ 430.35 |
| Non-Voting Shares | Buy | 18-Nov | | 28.71 | R\$ 2,641.32 |
| Non-Voting Shares | Buy | 18-Nov | 1,044 | 28.72 | R\$ 29,983.68 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.73 | R\$ 2,327.13 |
| Non-Voting Shares | Buy | 18-Nov | 380 | 28.74 | R\$ 10,921.20 |
| Non-Voting Shares | Buy | 18-Nov | | 28.75 | R\$ 5,433.75 |
| Non-Voting Shares | Buy | 18-Nov | | 28.76 | R\$ 14,293.72 |
| Non-Voting Shares | Buy | 18-Nov | | 28.77 | R\$ 14,154.84 |
| Non-Voting Shares | Buy | 18-Nov | | 28.78 | R\$ 5,986.24 |
| Non-Voting Shares | Buy | 18-Nov | | 28.79 | R\$ 4,145.76 |
| Non-Voting Shares | Buy | 18-Nov | | 28.80 | R\$ 31,449.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.81 | R\$ 7,202.50 |
| Non-Voting Shares | Buy | 18-Nov | | 28.82 | R\$ 24,871.66 |
| Non-Voting Shares | Buy | 18-Nov | | 28.83 | R\$ 16,779.06 |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | R\$ 3,316.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 4,500.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.86 | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | 35 | 28.87 | R\$ 1,010.45 |
| Non-Voting Shares | Buy | 18-Nov | 59 | 28.88 | R\$ 1,703.92 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | | 28.95 | R\$ 3,329.25 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 783.00 |
| Non-Voting Shares | | 18-Nov | | 29.00 | R\$ 3,394.17 |
| Non-voling Shares | Buy | 10-1107 | 117 | 23.01 | 1 τφ 3,334.17 |

| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,366.32 |
|-------------------------------------|------------|------------------|-----|----------------|---------------|
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,457.64 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 184 | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | 159 | 29.14 | R\$ 4,633.26 |
| Non-Voting Shares | Buy | 18-Nov | 159 | 29.15 | R\$ 4,634.85 |
| Non-Voting Shares | Buy | 18-Nov | 110 | 29.16 | R\$ 3,207.60 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 29.17 | R\$ 2,216.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 5,339.94 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,640.24 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,445.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 5,637.53 |
| Non-Voting Shares | Buy | 18-Nov | | 29.22 | R\$ 6,369.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.23 | R\$ 8,885.92 |
| Non-Voting Shares | Buy | 18-Nov | 355 | 29.24 | R\$ 10,380.20 |
| Non-Voting Shares | Buy | 18-Nov | 409 | 29.25 | R\$ 11,963.25 |
| Non-Voting Shares | Buy | 18-Nov | 241 | 29.26 | R\$ 7,051.66 |
| Non-Voting Shares | Buy | 18-Nov | 167 | 29.27 | R\$ 4,888.09 |
| Non-Voting Shares | Buy | 18-Nov | 141 | 29.28 | R\$ 4,128.48 |
| Non-Voting Shares | Buy | 18-Nov | | 29.29 | R\$ 3,485.51 |
| Non-Voting Shares | Buy | 18-Nov | 415 | | R\$ 12,159.50 |
| Non-Voting Shares | Buy | 18-Nov | | 29.31 | R\$ 1,055.16 |
| Non-Voting Shares | Buy | 18-Nov | 121 | 29.32 | R\$ 3,547.72 |
| Non-Voting Shares | Buy | 18-Nov | | 29.37 | R\$ 6,314.55 |
| Non-Voting Shares | Buy | 18-Nov | 7 | 29.38 | R\$ 205.66 |
| • | Buy | 18-Nov | | 29.39 | R\$ 7,905.91 |
| Non-Voting Shares | | 18-Nov | | 29.40 | R\$ 3,439.80 |
| Non-Voting Shares Non-Voting Shares | Buy Buy | 18-Nov | | 29.40 | R\$ 2,941.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.42 | R\$ 15,210.14 |
| Non-Voting Shares | - | 18-Nov | | 29.44 | R\$ 40,332.80 |
| • | Buy | | • | | |
| Non-Voting Shares | Buy | 18-Nov 18-Nov | | 28.69 28.71 | R\$ 459.04 |
| Non-Voting Shares | Buy | | | | R\$ 57.42 |
| Non-Voting Shares | Buy | 18-Nov | | 28.72 | R\$ 1,895.52 |
| Non-Voting Shares | Buy | 18-Nov | | 28.73 | R\$ 1,034.28 |
| Non-Voting Shares | Buy | 18-Nov | | 28.74 | R\$ 10,892.46 |
| Non-Voting Shares | Buy | 18-Nov | | 28.75 | R\$ 5,548.75 |
| Non-Voting Shares | Buy | 18-Nov | | 28.76 | R\$ 14,380.00 |
| Non-Voting Shares | Buy | 18-Nov | | 28.77 | R\$ 14,097.30 |
| Non-Voting Shares | Buy | 18-Nov | | 28.78 | R\$ 5,986.24 |
| Non-Voting Shares | Buy | 18-Nov | 141 | 28.79 | R\$ 4,059.39 |
| Non-Voting Shares | Buy | 18-Nov | | 28.80 | R\$ 31,478.40 |
| Non-Voting Shares | Buy | 18-Nov | | 28.81 | R\$ 7,202.50 |
| Non-Voting Shares | Buy | 18-Nov | 864 | 28.82 | R\$ 24,900.48 |

| Non-Voting Shares | Buy | 18-Nov | 582 | 28.83 | R\$ 16,779.06 |
|----------------------|-----|--------|-----|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 115 | 28.84 | R\$ 3,316.60 |
| Non-Voting Shares | Buy | 18-Nov | 156 | 28.85 | R\$ 4,500.60 |
| Non-Voting Shares | Buy | 18-Nov | 150 | 28.86 | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | 35 | 28.87 | R\$ 1,010.45 |
| Non-Voting Shares | Buy | 18-Nov | 59 | 28.88 | R\$ 1,703.92 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 28.95 | R\$ 3,329.25 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.01 | R\$ 3,394.17 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,366.32 |
| Non-Voting Shares | Buy | 18-Nov | 187 | 29.03 | R\$ 5,428.61 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,633.26 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,634.85 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,207.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,216.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 5,339.94 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,640.24 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,445.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 5,637.53 |
| Non-Voting Shares | Buy | 18-Nov | | 29.22 | R\$ 6,369.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.23 | R\$ 8,885.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.24 | R\$ 10,380.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.25 | R\$ 11,992.50 |
| Non-Voting Shares | Buy | 18-Nov | | 29.26 | R\$ 7,022.40 |
| Non-Voting Shares | Buy | 18-Nov | | 29.27 | R\$ 4,917.36 |
| Non-Voting Shares | Buy | 18-Nov | | 29.28 | R\$ 4,099.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.29 | R\$ 3,485.51 |
| Non-Voting Shares | Buy | 18-Nov | | 29.30 | R\$ 12,188.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.31 | R\$ 1,025.85 |
| Non-Voting Shares | Buy | 18-Nov | | 29.32 | R\$ 3,577.04 |
| Non-Voting Shares | Buy | 18-Nov | | 29.37 | R\$ 6,285.18 |
| . 1011 Voting Onaios | Day | 10 140 | £17 | _5.57 | 1 (φ 0,200.10 |

| Non-Voting Shares | Buy | 18-Nov | 7 | 29.38 | R\$ 205.66 |
|--------------------|-----|--------|-------|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 270 | 29.39 | R\$ 7,935.30 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.40 | R\$ 3,439.80 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.41 | R\$ 2,941.00 |
| Non-Voting Shares | Buy | 18-Nov | 516 | 29.42 | R\$ 15,180.72 |
| Non-Voting Shares | Buy | 18-Nov | 475 | 29.44 | R\$ 13,984.00 |
| Non-Voting Shares | Buy | 18-Nov | 17 | 28.69 | R\$ 487.73 |
| Non-Voting Shares | Buy | 18-Nov | 2 | 28.71 | R\$ 57.42 |
| Non-Voting Shares | Buy | 18-Nov | 66 | 28.72 | R\$ 1,895.52 |
| Non-Voting Shares | Buy | 18-Nov | 34 | 28.73 | R\$ 976.82 |
| Non-Voting Shares | Buy | 18-Nov | 380 | 28.74 | R\$ 10,921.20 |
| Non-Voting Shares | Buy | 18-Nov | 193 | 28.75 | R\$ 5,548.75 |
| Non-Voting Shares | Buy | 18-Nov | 500 | 28.76 | R\$ 14,380.00 |
| Non-Voting Shares | Buy | 18-Nov | 491 | 28.77 | R\$ 14,126.07 |
| Non-Voting Shares | Buy | 18-Nov | | 28.78 | R\$ 5,928.68 |
| Non-Voting Shares | Buy | 18-Nov | 141 | 28.79 | R\$ 4,059.39 |
| Non-Voting Shares | Buy | 18-Nov | 1,094 | 28.80 | R\$ 31,507.20 |
| Non-Voting Shares | Buy | 18-Nov | | 28.81 | R\$ 7,202.50 |
| Non-Voting Shares | Buy | 18-Nov | | 28.82 | R\$ 24,900.48 |
| Non-Voting Shares | Buy | 18-Nov | | 28.83 | R\$ 16,779.06 |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | R\$ 3,316.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 4,500.60 |
| Non-Voting Shares | Buy | 18-Nov | 149 | 28.86 | R\$ 4,300.14 |
| Non-Voting Shares | Buy | 18-Nov | 36 | 28.87 | R\$ 1,039.32 |
| Non-Voting Shares | Buy | 18-Nov | | 28.88 | R\$ 1,703.92 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.01 | R\$ 3,394.17 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,366.32 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,428.61 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,633.26 |
| . ton voing onaios | Day | 10 140 | 100 | _0.17 | 1 (φ 1,000.20 |

| Non-Voting Shares | Buy | 18-Nov | 163 | 29.15 | R\$ 4,751.45 |
|-------------------|-----|--------|-----|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 107 | 29.16 | R\$ 3,120.12 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 29.17 | R\$ 2,216.92 |
| Non-Voting Shares | Buy | 18-Nov | 183 | 29.18 | R\$ 5,339.94 |
| Non-Voting Shares | Buy | 18-Nov | 296 | 29.19 | R\$ 8,640.24 |
| Non-Voting Shares | Buy | 18-Nov | 118 | 29.20 | R\$ 3,445.60 |
| Non-Voting Shares | Buy | 18-Nov | 193 | 29.21 | R\$ 5,637.53 |
| Non-Voting Shares | Buy | 18-Nov | 218 | 29.22 | R\$ 6,369.96 |
| Non-Voting Shares | Buy | 18-Nov | 304 | 29.23 | R\$ 8,885.92 |
| Non-Voting Shares | Buy | 18-Nov | 355 | 29.24 | R\$ 10,380.20 |
| Non-Voting Shares | Buy | 18-Nov | 410 | 29.25 | R\$ 11,992.50 |
| Non-Voting Shares | Buy | 18-Nov | 240 | 29.26 | R\$ 7,022.40 |
| Non-Voting Shares | Buy | 18-Nov | 168 | 29.27 | R\$ 4,917.36 |
| Non-Voting Shares | Buy | 18-Nov | 141 | 29.28 | R\$ 4,128.48 |
| Non-Voting Shares | Buy | 18-Nov | 118 | 29.29 | R\$ 3,456.22 |
| Non-Voting Shares | Buy | 18-Nov | 416 | 29.30 | R\$ 12,188.80 |
| Non-Voting Shares | Buy | 18-Nov | 35 | 29.31 | R\$ 1,025.85 |
| Non-Voting Shares | Buy | 18-Nov | 122 | 29.32 | R\$ 3,577.04 |
| Non-Voting Shares | Buy | 18-Nov | | 29.37 | R\$ 6,285.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.38 | R\$ 205.66 |
| Non-Voting Shares | Buy | 18-Nov | | | R\$ 7,935.30 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.40 | R\$ 3,439.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.41 | R\$ 2,941.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.42 | R\$ 15,180.72 |
| Non-Voting Shares | Buy | 18-Nov | | 29.44 | R\$ 13,984.00 |
| Non-Voting Shares | Buy | 18-Nov | 17 | 28.69 | R\$ 487.73 |
| Non-Voting Shares | Buy | 18-Nov | | 28.71 | R\$ 114.84 |
| Non-Voting Shares | Buy | 18-Nov | | 28.72 | R\$ 1,952.96 |
| Non-Voting Shares | Buy | 18-Nov | | 28.73 | R\$ 976.82 |
| Non-Voting Shares | Buy | 18-Nov | | 28.74 | R\$ 10,978.68 |
| Non-Voting Shares | Buy | 18-Nov | | 28.75 | R\$ 5,433.75 |
| Non-Voting Shares | Buy | 18-Nov | 499 | 28.76 | R\$ 14,351.24 |
| Non-Voting Shares | Buy | 18-Nov | | 28.77 | R\$ 13,982.22 |
| Non-Voting Shares | Buy | 18-Nov | | 28.78 | R\$ 6,130.14 |
| Non-Voting Shares | Buy | 18-Nov | | 28.79 | R\$ 4,174.55 |
| Non-Voting Shares | Buy | 18-Nov | | 28.80 | R\$ 31,305.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.81 | R\$ 7,202.50 |
| Non-Voting Shares | Buy | 18-Nov | 863 | 28.82 | R\$ 24,871.66 |
| Non-Voting Shares | Buy | 18-Nov | | 28.83 | R\$ 16,807.89 |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | R\$ 3,316.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 4,471.75 |
| Non-Voting Shares | Buy | 18-Nov | | 28.86 | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | | 28.87 | R\$ 981.58 |
| Non-Voting Shares | Buy | 18-Nov | 61 | 28.88 | R\$ 1,761.68 |
| Non-Voting Shares | Buy | 18-Nov | | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | | 28.95 | R\$ 3,300.30 |
| Jung Juan Ju | zay | 10 110 | | _5.55 | |

| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
|-------------------|------------|--------|-----|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.01 | R\$ 3,394.17 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.02 | R\$ 3,366.32 |
| Non-Voting Shares | Buy | 18-Nov | 187 | 29.03 | R\$ 5,428.61 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,722.30 |
| Non-Voting Shares | Buy | 18-Nov | 109 | 29.16 | R\$ 3,178.44 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 29.17 | R\$ 2,216.92 |
| Non-Voting Shares | Buy | 18-Nov | 186 | 29.18 | R\$ 5,427.48 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,581.86 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,387.20 |
| Non-Voting Shares | Buy | 18-Nov | 191 | 29.21 | R\$ 5,579.11 |
| Non-Voting Shares | Buy | 18-Nov | 221 | 29.22 | R\$ 6,457.62 |
| Non-Voting Shares | Buy | 18-Nov | | 29.23 | R\$ 8,885.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.24 | R\$ 10,350.96 |
| Non-Voting Shares | Buy | 18-Nov | 411 | 29.25 | R\$ 12,021.75 |
| Non-Voting Shares | Buy | 18-Nov | 240 | 29.26 | R\$ 7,022.40 |
| Non-Voting Shares | Buy | 18-Nov | | | R\$ 4,917.36 |
| Non-Voting Shares | Buy | 18-Nov | | 29.28 | R\$ 4,128.48 |
| Non-Voting Shares | Buy | 18-Nov | | 29.29 | R\$ 3,456.22 |
| Non-Voting Shares | Buy | 18-Nov | | 29.30 | R\$ 12,188.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.31 | R\$ 1,055.16 |
| Non-Voting Shares | Buy | 18-Nov | | 29.32 | R\$ 3,577.04 |
| Non-Voting Shares | Buy | 18-Nov | | 29.37 | R\$ 6,285.18 |
| Non-Voting Shares | - | 18-Nov | | 29.38 | R\$ 205.66 |
| Non-Voting Shares | Buy | 18-Nov | | 29.39 | R\$ 7,935.30 |
| Non-Voting Shares | Buy Buy | 18-Nov | | 29.40 | R\$ 3,410.40 |
| • | • | 18-Nov | | 29.40 | |
| Non-Voting Shares | Buy | | | | R\$ 2,941.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.42 | R\$ 15,210.14 |
| Non-Voting Shares | Buy | 18-Nov | | 29.44 | R\$ 13,984.00 |
| Non-Voting Shares | Buy | 18-Nov | 17 | 28.69 | R\$ 487.73 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.71 | R\$ 28.71 |
| Non-Voting Shares | Buy | 18-Nov | 67 | 28.72 | R\$ 1,924.24 |
| Non-Voting Shares | Buy | 18-Nov | | 28.73 | R\$ 976.82 |
| Non-Voting Shares | Buy | 18-Nov | | 28.74 | R\$ 10,921.20 |
| Non-Voting Shares | Buy | 18-Nov | | 28.75 | R\$ 5,491.25 |
| Non-Voting Shares | Buy | 18-Nov | 499 | 28.76 | R\$ 14,351.24 |

| Non-Voting Shares | Buy | 18-Nov | 495 | 28.77 | R\$ 14,241.15 |
|-------------------|-----|---------|-------|-------|----------------------------|
| Non-Voting Shares | Buy | 18-Nov | 206 | 28.78 | R\$ 5,928.68 |
| Non-Voting Shares | Buy | 18-Nov | 142 | 28.79 | R\$ 4,088.18 |
| Non-Voting Shares | Buy | 18-Nov | 1,094 | 28.80 | R\$ 31,507.20 |
| Non-Voting Shares | Buy | 18-Nov | 249 | 28.81 | R\$ 7,173.69 |
| Non-Voting Shares | Buy | 18-Nov | 865 | 28.82 | R\$ 24,929.30 |
| Non-Voting Shares | Buy | 18-Nov | 582 | 28.83 | R\$ 16,779.06 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 28.84 | R\$ 3,316.60 |
| Non-Voting Shares | Buy | 18-Nov | 156 | 28.85 | R\$ 4,500.60 |
| Non-Voting Shares | Buy | 18-Nov | 150 | 28.86 | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | 34 | 28.87 | R\$ 981.58 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 82 | 28.89 | R\$ 2,368.98 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | | 28.98 | R\$ 2,463.30 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 28 | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 118 | 29.01 | R\$ 3,423.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,279.26 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,428.61 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.08 | R\$ 1,686.64 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,633.26 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,722.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,120.12 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,216.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 5,369.12 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,757.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,328.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 5,637.53 |
| Non-Voting Shares | Buy | 18-Nov | | 29.22 | R\$ 6,369.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.23 | R\$ 8,856.69 |
| Non-Voting Shares | Buy | 18-Nov | | 29.24 | R\$ 10,380.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.25 | R\$ 11,963.25 |
| Non-Voting Shares | Buy | 18-Nov | | 29.25 | R\$ 7,080.92 |
| _ | - | 18-Nov | | 29.20 | R\$ 4,917.36 |
| Non-Voting Shares | Buy | 10-1107 | 100 | 23.21 | пф 4 ,9 i / .30 |

| Non-Voting Shares | Buy | 18-Nov | 140 | 29.28 | R\$ 4,099.20 | |
|-------------------|-------|--------|---------|-------|------------------|--|
| Non-Voting Shares | Buy | 18-Nov | 118 | 29.29 | R\$ 3,456.22 | |
| Non-Voting Shares | Buy | 18-Nov | 417 | 29.30 | R\$ 12,218.10 | |
| Non-Voting Shares | Buy | 18-Nov | 35 | 29.31 | R\$ 1,025.85 | |
| Non-Voting Shares | Buy | 18-Nov | 122 | 29.32 | R\$ 3,577.04 | |
| Non-Voting Shares | Buy | 18-Nov | 214 | 29.37 | R\$ 6,285.18 | |
| Non-Voting Shares | Buy | 18-Nov | 7 | 29.38 | R\$ 205.66 | |
| Non-Voting Shares | Buy | 18-Nov | 270 | 29.39 | R\$ 7,935.30 | |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.40 | R\$ 3,410.40 | |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.41 | R\$ 2,941.00 | |
| Non-Voting Shares | Buy | 18-Nov | 517 | 29.42 | R\$ 15,210.14 | |
| Non-Voting Shares | Buy | 18-Nov | 476 | 29.44 | R\$ 14,013.44 | |
| Non-Voting Shares | Total | | 104,281 | | R\$ 3,028,461.17 | |
| Closing Balance | | | | | | |

% of participation

| Type of Securities/Derivatives | Quantity | Same type of Shares Total |
|--------------------------------|------------|---------------------------|
| Common Shares | 16,697,974 | 0.6013 0.3006 |
| Non-Voting Shares | 26,897,879 | 0.9686 0.4843 |

| Company: Bradesco Leasing S.A. Arrendamento Mercantil | | | | | | | |
|---|--------------------------|------------------------------------|-----------------------|----------------------------------|--------------|--------|--|
| Group and Family Dependants | (x)Board of Directors | () Board of Executive Officers | () Audit Committee | () Technical a Advisory Agen | | | |
| | | Openning Balance | | | | | |
| | | | | % 0 | f participa | tion | |
| Type of Securities/Derivatives | | | Quantity | | type of ares | Total | |
| | Common Share | S | | 0 | 0.0000 | 0.0000 | |
| | Non-Voting Shar | | | 0 | 0.0000 | 0.0000 | |
| | | Closing Balance | | | | | |
| | | | | % o | f participa | tion | |
| Туре | of Securities/Der | ivatives | Quantity | | type of ares | Total | |
| | Common Share | S | | 0 | 0.0000 | 0.0000 | |
| | Non-Voting Shar | es | | 0 | 0.0000 | 0.0000 | |

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

| Company: Banco Brade | | | | | | | |
|-----------------------------------|--------------------------|------------------------------------|----------|-----------------------|---------------------------|------------------------------------|--|
| Group and Family Dependants | ()Board of Directors | (X) Board of Executive Officers | | () Audit Committee | | () Technical and Advisory Agencies | |
| | | Openning E | Balance | | | | |
| | | | | | | % of participation | |
| Type of Securities/Derivatives | | | Quantity | | Same type of Shares Total | | |
| | Common Share | _ | | | 87,433 | 0.0031 0.0015 | |
| N | Non-Voting Sha | res Month Mo v | omont. | 3,1 | 21,616 | 0.1124 0.0562 | |
| | | WIOTILIT WOV | rement | | | | |
| Type of Securities/Derivatives | Broker | Operation | Day | Quantity | Price | Value in R\$ | |
| Non-Voting Shares | | Buy | 18-Nov | 1 | 28.74 | R\$ 28.74 | |
| Non-Voting Shares | | Buy | 18-Nov | 45 | 28.75 | R\$ 1,293.75 | |
| Non-Voting Shares | | Buy | 18-Nov | 1 | | R\$ 28.76 | |
| Non-Voting Shares | | Buy | 18-Nov | | 28.77 | R\$ 201.39 | |
| Non-Voting Shares | | Buy | 18-Nov | 91 | | R\$ 2,618.98 | |
| Non-Voting Shares | | Buy | 18-Nov | 141 | | R\$ 4,059.39 | |
| Non-Voting Shares | | Buy | 18-Nov | | 28.80 | R\$ 31,507.20 | |
| Non-Voting Shares | | Buy | 18-Nov | 250 | 28.81 | R\$ 7,202.50 | |
| Non-Voting Shares | | Buy | 18-Nov | | 28.82 | R\$ 24,900.48 | |
| Non-Voting Shares | | Buy | 18-Nov | | 28.83 | R\$ 16,779.06 | |
| Non-Voting Shares | | Buy | 18-Nov | | 28.84 | R\$ 3,316.60 | |
| Non-Voting Shares | | Buy | 18-Nov | | 28.85 | R\$ 4,500.60 | |
| Non-Voting Shares | | Buy | 18-Nov | | 28.86 | R\$ 4,329.00 | |
| Non-Voting Shares | | Buy | 18-Nov | | 28.87 | R\$ 1,010.45 | |
| Non-Voting Shares | | Buy | 18-Nov | | 28.88 | R\$ 1,703.92 | |
| Non-Voting Shares | | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 | |
| Non-Voting Shares | | Buy | 18-Nov | | 28.90 | R\$ 3,005.60 | |
| Non-Voting Shares | | Buy | 18-Nov | | 28.91 | R\$ 2,544.08 | |
| Non-Voting Shares | | Buy | 18-Nov | | 28.92 | R\$ 2,197.92 | |
| Non-Voting Shares | | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 | |

| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
|-------------------|-----|--------|-----|-------|-------------------------------|
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 29.02 | R\$ 3,337.30 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 50 | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 183 | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,633.26 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,751.45 |
| Non-Voting Shares | Buy | 18-Nov | 107 | 29.16 | R\$ 3,120.12 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 29.17 | R\$ 2,216.92 |
| Non-Voting Shares | Buy | 18-Nov | 183 | 29.18 | R\$ 5,339.94 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,640.24 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,445.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 5,637.53 |
| Non-Voting Shares | Buy | 18-Nov | | 29.22 | R\$ 6,369.96 |
| Non-Voting Shares | - | 18-Nov | | 29.22 | |
| | Buy | 18-Nov | | 29.23 | R\$ 8,885.92 R\$ 10,380.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.25 | |
| Non-Voting Shares | Buy | | | 29.25 | R\$ 11,992.50 R\$ 7,022.40 |
| Non-Voting Shares | Buy | 18-Nov | | | |
| Non-Voting Shares | Buy | 18-Nov | | 29.27 | R\$ 4,917.36 |
| Non-Voting Shares | Buy | 18-Nov | | 29.28 | R\$ 4,128.48 |
| Non-Voting Shares | Buy | 18-Nov | | 29.29 | R\$ 3,456.22 |
| Non-Voting Shares | Buy | 18-Nov | | 29.30 | R\$ 12,188.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.31 | R\$ 1,025.85 |
| Non-Voting Shares | Buy | 18-Nov | | 29.32 | R\$ 3,577.04 |
| Non-Voting Shares | Buy | 18-Nov | | 29.37 | R\$ 6,285.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.38 | R\$ 205.66 |
| Non-Voting Shares | Buy | 18-Nov | | 29.39 | R\$ 5,084.47 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.74 | R\$ 28.74 |
| Non-Voting Shares | Buy | 18-Nov | | 28.75 | R\$ 1,265.00 |
| Non-Voting Shares | Buy | 18-Nov | | 28.76 | R\$ 57.52 |
| Non-Voting Shares | Buy | 18-Nov | | 28.77 | R\$ 201.39 |
| Non-Voting Shares | Buy | 18-Nov | | 28.78 | R\$ 2,705.32 |
| Non-Voting Shares | Buy | 18-Nov | | 28.79 | R\$ 4,145.76 |
| Non-Voting Shares | Buy | 18-Nov | | 28.80 | R\$ 31,334.40 |
| Non-Voting Shares | Buy | 18-Nov | | 28.81 | R\$ 7,202.50 |
| Non-Voting Shares | Buy | 18-Nov | 864 | 28.82 | R\$ 24,900.48 |

| Non-Voting Shares | Buy | 18-Nov | 582 | 28.83 | R\$ 16,779.06 |
|-------------------|-----|--------|-----|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 115 | 28.84 | R\$ 3,316.60 |
| Non-Voting Shares | Buy | 18-Nov | 156 | 28.85 | R\$ 4,500.60 |
| Non-Voting Shares | Buy | 18-Nov | 150 | 28.86 | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | 34 | 28.87 | R\$ 981.58 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.91 | R\$ 2,544.08 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 29.02 | R\$ 3,337.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 87 | | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 50 | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,722.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,178.44 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,216.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 5,427.48 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,581.86 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,387.20 |
| Non-Voting Shares | Buy | 18-Nov | 191 | 29.21 | R\$ 5,579.11 |
| Non-Voting Shares | Buy | 18-Nov | 221 | 29.22 | R\$ 6,457.62 |
| Non-Voting Shares | Buy | 18-Nov | | 29.23 | R\$ 8,973.61 |
| Non-Voting Shares | Buy | 18-Nov | | 29.24 | R\$ 10,350.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.25 | R\$ 11,963.25 |
| Non-Voting Shares | Buy | 18-Nov | | 29.26 | R\$ 7,022.40 |
| Non-Voting Shares | Buy | 18-Nov | | 29.27 | R\$ 4,917.36 |
| Non-Voting Shares | | 18-Nov | | 29.28 | R\$ 4,128.48 |
| • | Buy | 18-Nov | | | |
| Non-Voting Shares | Buy | 18-Nov | | 29.29 | R\$ 3,456.22 |
| Non-Voting Shares | Buy | | | 29.30 | R\$ 12,188.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.31 | R\$ 1,055.16 |
| Non-Voting Shares | Buy | 18-Nov | 121 | 29.32 | R\$ 3,547.72 |
| Non-Voting Shares | Buy | 18-Nov | 214 | 29.37 | R\$ 6,285.18 |

| Non-Voting Shares | Buy | 18-Nov | 8 | 29.38 | R\$ 235.04 |
|-------------------|-----|--------|-------|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 172 | 29.39 | R\$ 5,055.08 |
| Non-Voting Shares | Buy | 18-Nov | 2 | 28.74 | R\$ 57.48 |
| Non-Voting Shares | Buy | 18-Nov | 47 | 28.75 | R\$ 1,351.25 |
| Non-Voting Shares | Buy | 18-Nov | 6 | 28.77 | R\$ 172.62 |
| Non-Voting Shares | Buy | 18-Nov | 98 | 28.78 | R\$ 2,820.44 |
| Non-Voting Shares | Buy | 18-Nov | 140 | 28.79 | R\$ 4,030.60 |
| Non-Voting Shares | Buy | 18-Nov | 1,086 | 28.80 | R\$ 31,276.80 |
| Non-Voting Shares | Buy | 18-Nov | 250 | 28.81 | R\$ 7,202.50 |
| Non-Voting Shares | Buy | 18-Nov | 864 | 28.82 | R\$ 24,900.48 |
| Non-Voting Shares | Buy | 18-Nov | 582 | 28.83 | R\$ 16,779.06 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 28.84 | R\$ 3,316.60 |
| Non-Voting Shares | Buy | 18-Nov | 156 | 28.85 | R\$ 4,500.60 |
| Non-Voting Shares | Buy | 18-Nov | 150 | 28.86 | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | 34 | 28.87 | R\$ 981.58 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.91 | R\$ 2,544.08 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 29.02 | R\$ 3,337.30 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 50 | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,722.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,178.44 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,275.26 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 5,310.76 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,757.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,387.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 5,608.32 |
| Non-Voting Shares | Buy | 18-Nov | | 29.22 | R\$ 6,311.52 |
| Non-Voting Shares | Buy | 18-Nov | | 29.23 | R\$ 8,944.38 |
| - | • | | | | • |

| Non-Voting Shares | Buy | 18-Nov | 353 | 29.24 | R\$ 10,321.72 |
|-------------------|-----|--------|----------|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 411 | 29.25 | R\$ 12,021.75 |
| Non-Voting Shares | Buy | 18-Nov | 240 | 29.26 | R\$ 7,022.40 |
| Non-Voting Shares | Buy | 18-Nov | 168 | 29.27 | R\$ 4,917.36 |
| Non-Voting Shares | Buy | 18-Nov | 141 | 29.28 | R\$ 4,128.48 |
| Non-Voting Shares | Buy | 18-Nov | 118 | 29.29 | R\$ 3,456.22 |
| Non-Voting Shares | Buy | 18-Nov | | 29.30 | R\$ 12,188.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.31 | R\$ 1,055.16 |
| Non-Voting Shares | Buy | 18-Nov | 121 | 29.32 | R\$ 3,547.72 |
| Non-Voting Shares | Buy | 18-Nov | | 29.37 | R\$ 6,285.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.38 | R\$ 235.04 |
| Non-Voting Shares | Buy | 18-Nov | | 29.39 | R\$ 5,055.08 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.74 | R\$ 28.74 |
| Non-Voting Shares | Buy | 18-Nov | | 28.75 | R\$ 1,293.75 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.76 | R\$ 28.76 |
| Non-Voting Shares | Buy | 18-Nov | | 28.77 | R\$ 201.39 |
| Non-Voting Shares | Buy | 18-Nov | 91 | 28.78 | R\$ 2,618.98 |
| Non-Voting Shares | Buy | 18-Nov | 143 | 28.79 | R\$ 4,116.97 |
| Non-Voting Shares | Buy | 18-Nov | | 28.80 | R\$ 31,449.60 |
| Non-Voting Shares | Buy | 18-Nov | • | 28.81 | R\$ 7,202.50 |
| Non-Voting Shares | Buy | 18-Nov | | 28.82 | R\$ 24,900.48 |
| Non-Voting Shares | Buy | 18-Nov | | 28.83 | R\$ 16,779.06 |
| Non-Voting Shares | Buy | 18-Nov | 115 | | R\$ 3,316.60 |
| _ | • | 18-Nov | | 28.85 | |
| Non-Voting Shares | Buy | 18-Nov | | 28.86 | R\$ 4,500.60 |
| Non-Voting Shares | Buy | | | | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | 59 | 28.87 | R\$ 1,010.45 |
| Non-Voting Shares | Buy | 18-Nov | | 28.88 | R\$ 1,703.92 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.91 | R\$ 2,544.08 |
| Non-Voting Shares | Buy | 18-Nov | 76 60 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,337.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| | | | | | |

| Non-Voting Shares | Buy | 18-Nov | 183 | 29.13 | R\$ 5,330.79 |
|-------------------|------------|--------|-------|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 159 | 29.14 | R\$ 4,633.26 |
| Non-Voting Shares | Buy | 18-Nov | 163 | 29.15 | R\$ 4,751.45 |
| Non-Voting Shares | Buy | 18-Nov | 107 | 29.16 | R\$ 3,120.12 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 29.17 | R\$ 2,216.92 |
| Non-Voting Shares | Buy | 18-Nov | 183 | 29.18 | R\$ 5,339.94 |
| Non-Voting Shares | Buy | 18-Nov | 296 | 29.19 | R\$ 8,640.24 |
| Non-Voting Shares | Buy | 18-Nov | 118 | 29.20 | R\$ 3,445.60 |
| Non-Voting Shares | Buy | 18-Nov | 194 | 29.21 | R\$ 5,666.74 |
| Non-Voting Shares | Buy | 18-Nov | 216 | 29.22 | R\$ 6,311.52 |
| Non-Voting Shares | Buy | 18-Nov | 303 | 29.23 | R\$ 8,856.69 |
| Non-Voting Shares | Buy | 18-Nov | 357 | 29.24 | R\$ 10,438.68 |
| Non-Voting Shares | Buy | 18-Nov | 409 | 29.25 | R\$ 11,963.25 |
| Non-Voting Shares | Buy | 18-Nov | 241 | 29.26 | R\$ 7,051.66 |
| Non-Voting Shares | Buy | 18-Nov | 168 | 29.27 | R\$ 4,917.36 |
| Non-Voting Shares | Buy | 18-Nov | 141 | 29.28 | R\$ 4,128.48 |
| Non-Voting Shares | Buy | 18-Nov | | 29.29 | R\$ 3,456.22 |
| Non-Voting Shares | Buy | 18-Nov | | 29.30 | R\$ 12,188.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.31 | R\$ 1,055.16 |
| Non-Voting Shares | Buy | 18-Nov | 121 | 29.32 | R\$ 3,547.72 |
| Non-Voting Shares | Buy | 18-Nov | 214 | | R\$ 6,285.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.38 | R\$ 205.66 |
| Non-Voting Shares | Buy | 18-Nov | 173 | 29.39 | R\$ 5,084.47 |
| Non-Voting Shares | Buy | 18-Nov | | 28.74 | R\$ 86.22 |
| Non-Voting Shares | Buy | 18-Nov | | 28.75 | R\$ 1,236.25 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.76 | R\$ 28.76 |
| Non-Voting Shares | Buy | 18-Nov | 5 | 28.77 | R\$ 143.85 |
| Non-Voting Shares | Buy | 18-Nov | 97 | 28.78 | R\$ 2,791.66 |
| Non-Voting Shares | Buy | 18-Nov | | 28.79 | R\$ 4,174.55 |
| Non-Voting Shares | Buy | 18-Nov | 1,087 | 28.80 | R\$ 31,305.60 |
| Non-Voting Shares | Buy | 18-Nov | 250 | 28.81 | R\$ 7,202.50 |
| Non-Voting Shares | Buy | 18-Nov | 863 | 28.82 | R\$ 24,871.66 |
| Non-Voting Shares | Buy | 18-Nov | | 28.83 | R\$ 16,807.89 |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | R\$ 3,316.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 4,500.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.86 | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | 34 | 28.87 | R\$ 981.58 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | • | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| • | • | 18-Nov | 76 | 28.92 | |
| Non-Voting Shares | Buy | | | | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |

| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,337.30 |
|-------------------------------------|-----|--------|----------|-------|------------------------------|
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 50 | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 183 | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | 157 | 29.14 | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | 162 | 29.15 | R\$ 4,722.30 |
| Non-Voting Shares | Buy | 18-Nov | 109 | 29.16 | R\$ 3,178.44 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 29.17 | R\$ 2,216.92 |
| Non-Voting Shares | Buy | 18-Nov | 186 | 29.18 | R\$ 5,427.48 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,581.86 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.20 | R\$ 3,387.20 |
| Non-Voting Shares | Buy | 18-Nov | 191 | 29.21 | R\$ 5,579.11 |
| Non-Voting Shares | Buy | 18-Nov | 221 | | R\$ 6,457.62 |
| Non-Voting Shares | Buy | 18-Nov | | 29.23 | R\$ 8,885.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.24 | R\$ 10,350.96 |
| Non-Voting Shares | Buy | 18-Nov | 411 | 29.25 | R\$ 12,021.75 |
| Non-Voting Shares | Buy | 18-Nov | 240 | 29.26 | R\$ 7,022.40 |
| Non-Voting Shares | Buy | 18-Nov | | 29.27 | R\$ 4,917.36 |
| Non-Voting Shares | Buy | 18-Nov | 141 | | R\$ 4,128.48 |
| Non-Voting Shares | Buy | 18-Nov | | 29.29 | R\$ 3,456.22 |
| Non-Voting Shares | Buy | 18-Nov | 416 | | R\$ 12,188.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.31 | R\$ 1,055.16 |
| Non-Voting Shares | Buy | 18-Nov | | 29.32 | R\$ 3,577.04 |
| Non-Voting Shares | Buy | 18-Nov | | 29.37 | R\$ 6,285.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.38 | R\$ 205.66 |
| Non-Voting Shares | Buy | 18-Nov | | 29.39 | R\$ 5,084.47 |
| Non-Voting Shares | Buy | 18-Nov | | 28.80 | R\$ 8,006.40 |
| Non-Voting Shares | Buy | 18-Nov | | 28.81 | R\$ 7,202.50 |
| Non-Voting Shares | Buy | 18-Nov | | 28.82 | R\$ 24,871.66 |
| Non-Voting Shares | Buy | 18-Nov | | 28.83 | R\$ 16,807.89 |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | R\$ 3,316.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 4,500.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.86 | R\$ 4,329.00 |
| Non-Voting Shares | | 18-Nov | | 28.87 | R\$ 981.58 |
| Non-Voting Shares | Buy | 18-Nov | | 28.88 | R\$ 1,732.80 |
| • | Buy | 18-Nov | 81 | 28.89 | |
| Non-Voting Shares Non-Voting Shares | Buy | 18-Nov | | | R\$ 2,340.09 R\$ 2,976.70 |
| | Buy | | | 28.90 | |
| Non-Voting Shares | Buy | 18-Nov | | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 77 60 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |

| Non-Voting Shares | Buy | 18-Nov | | 28.97 | R\$ 2,520.39 |
|-------------------|------------|--------|----------|----------------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 28 | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.01 | R\$ 3,394.17 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.02 | R\$ 3,395.34 |
| Non-Voting Shares | Buy | 18-Nov | 186 | 29.03 | R\$ 5,399.58 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 50 | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | 157 | | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,780.60 |
| Non-Voting Shares | Buy | 18-Nov | 107 | | R\$ 3,120.12 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,304.43 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 5,310.76 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,640.24 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.20 | R\$ 3,416.40 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 5,520.69 |
| Non-Voting Shares | Buy | 18-Nov | | 29.22 | R\$ 6,399.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.23 | R\$ 8,944.38 |
| Non-Voting Shares | Buy | 18-Nov | | 29.24 | R\$ 10,380.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.25 | R\$ 11,963.25 |
| Non-Voting Shares | Buy | 18-Nov | | 29.26 | R\$ 7,022.40 |
| Non-Voting Shares | Buy | 18-Nov | | 29.27 | R\$ 4,946.63 |
| Non-Voting Shares | Buy | 18-Nov | 141 | 29.28 | R\$ 4,128.48 |
| Non-Voting Shares | Buy | 18-Nov | | 29.29 | R\$ 3,485.51 |
| Non-Voting Shares | Buy | 18-Nov | | 29.30 | R\$ 1,347.80 |
| Non-Voting Shares | | 18-Nov | | 28.80 | R\$ 8,035.20 |
| Non-Voting Shares | Buy Buy | 18-Nov | | 28.81 | R\$ 7,202.50 |
| Non-Voting Shares | Buy | 18-Nov | | 28.82 | R\$ 24,900.48 |
| Non-Voting Shares | Buy | 18-Nov | | 28.83 | R\$ 16,779.06 |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | R\$ 3,316.60 |
| • | • | 18-Nov | | 28.85 | R\$ 4,500.60 |
| Non-Voting Shares | Buy | 18-Nov | | | |
| Non-Voting Shares | Buy | | | 28.86 28.87 | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | | | R\$ 1,010.45 |
| Non-Voting Shares | Buy | 18-Nov | 59 | 28.88 | R\$ 1,703.92 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 76 60 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | | 28.95 | R\$ 3,271.35 |
| Non-Voting Shares | Buy | 18-Nov | /3 | 28.96 | R\$ 2,114.08 |

| Non-Voting Shares | Buy | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
|-------------------|-----|--------|-----|----------------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 89 | 28.98 | R\$ 2,579.22 |
| Non-Voting Shares | Buy | 18-Nov | 112 | 28.99 | R\$ 3,246.88 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 29.02 | R\$ 3,337.30 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 50 | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 29.09 | R\$ 2,996.27 |
| Non-Voting Shares | Buy | 18-Nov | 67 | 29.10 | R\$ 1,949.70 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 184 | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,545.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,722.30 |
| Non-Voting Shares | Buy | 18-Nov | 110 | 29.16 | R\$ 3,207.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,216.92 |
| Non-Voting Shares | Buy | 18-Nov | 183 | 29.18 | R\$ 5,339.94 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,640.24 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,445.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 5,666.74 |
| Non-Voting Shares | Buy | 18-Nov | | 29.22 | R\$ 6,311.52 |
| Non-Voting Shares | Buy | 18-Nov | | 29.23 | R\$ 8,944.38 |
| Non-Voting Shares | Buy | 18-Nov | | 29.24 | R\$ 10,321.72 |
| Non-Voting Shares | Buy | 18-Nov | | 29.25 | R\$ 11,992.50 |
| Non-Voting Shares | Buy | 18-Nov | 241 | 29.26 | R\$ 7,051.66 |
| Non-Voting Shares | Buy | 18-Nov | 168 | | R\$ 4,917.36 |
| Non-Voting Shares | Buy | 18-Nov | 141 | 29.28 | R\$ 4,128.48 |
| Non-Voting Shares | Buy | 18-Nov | | 29.29 | R\$ 3,456.22 |
| Non-Voting Shares | Buy | 18-Nov | | 29.30 | R\$ 1,406.40 |
| Non-Voting Shares | Buy | 18-Nov | | 28.74 | R\$ 57.48 |
| Non-Voting Shares | Buy | 18-Nov | | 28.75 | R\$ 1,265.00 |
| Non-Voting Shares | Buy | 18-Nov | 8 | 28.77 | R\$ 230.16 |
| Non-Voting Shares | Buy | 18-Nov | | 28.78 | R\$ 2,762.88 |
| Non-Voting Shares | Buy | 18-Nov | | 28.79 | R\$ 4,116.97 |
| Non-Voting Shares | Buy | 18-Nov | | 28.80 | R\$ 31,363.20 |
| Non-Voting Shares | Buy | 18-Nov | 250 | 28.81 | R\$ 7,202.50 |
| Non-Voting Shares | Buy | 18-Nov | | 28.82 | R\$ 24,871.66 |
| • | • | 18-Nov | | 28.83 | R\$ 16,779.06 |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | |
| Non-Voting Shares | Buy | | | | R\$ 3,316.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 28.86 | R\$ 4,471.75 |
| Non-Voting Shares | Buy | 18-Nov | 150 | | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | 35 | 28.87 | R\$ 1,010.45 |
| Non-Voting Shares | Buy | 18-Nov | 59 | 28.88 | R\$ 1,703.92 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.91 | R\$ 2,544.08 |

| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
|-------------------|-----|------------------|-----|----------------|--------------------------------|
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 29.02 | R\$ 3,337.30 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 50 | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 183 | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | 159 | 29.14 | R\$ 4,633.26 |
| Non-Voting Shares | Buy | 18-Nov | 161 | 29.15 | R\$ 4,693.15 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,178.44 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,450.28 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 5,106.50 |
| Non-Voting Shares | Buy | 18-Nov | 301 | 29.19 | R\$ 8,786.19 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.20 | R\$ 3,416.40 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 5,520.69 |
| Non-Voting Shares | Buy | 18-Nov | | 29.22 | R\$ 6,399.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.23 | R\$ 8,856.69 |
| Non-Voting Shares | Buy | 18-Nov | | 29.24 | R\$ 10,409.44 |
| Non-Voting Shares | Buy | 18-Nov | | 29.25 | R\$ 11,963.25 |
| Non-Voting Shares | Buy | 18-Nov | | 29.26 | R\$ 6,934.62 |
| Non-Voting Shares | Buy | 18-Nov | 171 | 29.27 | R\$ 5,005.17 |
| Non-Voting Shares | Buy | 18-Nov | 141 | 29.28 | R\$ 4,128.48 |
| Non-Voting Shares | Buy | 18-Nov | | 29.29 | R\$ 3,456.22 |
| Non-Voting Shares | Buy | 18-Nov | | 29.30 | R\$ 12,188.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.31 | R\$ 1,055.16 |
| Non-Voting Shares | Buy | 18-Nov | 121 | 29.32 | R\$ 3,547.72 |
| Non-Voting Shares | Buy | 18-Nov | | 29.37 | R\$ 6,314.55 |
| Non-Voting Shares | Buy | 18-Nov | 7 | 29.38 | R\$ 205.66 |
| Non-Voting Shares | Buy | 18-Nov | | 29.39 | R\$ 5,084.47 |
| Non-Voting Shares | Buy | 18-Nov | | 28.80 | R\$ 8,006.40 |
| Non-Voting Shares | Buy | 18-Nov | | 28.81 | R\$ 7,202.50 |
| • | • | | | | |
| Non-Voting Shares | Buy | 18-Nov 18-Nov | | 28.82 28.83 | R\$ 24,900.48 R\$ 16,779.06 |
| Non-Voting Shares | Buy | | | | |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | R\$ 3,316.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 4,500.60 |
| Non-Voting Shares | Buy | 18-Nov | 150 | 28.86 | R\$ 4,329.00 |

| Non-Voting Shares | Buy | 18-Nov | 34 | 28.87 | R\$ 981.58 |
|-------------------|------------|--------|-----|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 82 | 28.89 | R\$ 2,368.98 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 85 | 28.91 | R\$ 2,457.35 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 28 | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.01 | R\$ 3,394.17 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.02 | R\$ 3,395.34 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 87 | | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 50 | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 183 | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | 157 | | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,780.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.17 | R\$ 2,421.11 |
| Non-Voting Shares | Buy | 18-Nov | 177 | 29.18 | R\$ 5,164.86 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,611.05 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,387.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 5,695.95 |
| Non-Voting Shares | Buy | 18-Nov | | 29.22 | R\$ 6,311.52 |
| Non-Voting Shares | Buy | 18-Nov | | 29.23 | R\$ 9,032.07 |
| Non-Voting Shares | Buy | 18-Nov | | 29.24 | R\$ 10,350.96 |
| Non-Voting Shares | • | 18-Nov | | 29.25 | R\$ 11,963.25 |
| Non-Voting Shares | Buy | 18-Nov | | 29.25 | R\$ 6,993.14 |
| Non-Voting Shares | Buy Buy | 18-Nov | | 29.27 | R\$ 4,917.36 |
| • | • | 18-Nov | 141 | | |
| Non-Voting Shares | Buy | | | | R\$ 4,128.48 |
| Non-Voting Shares | Buy | 18-Nov | | 29.29 | R\$ 3,456.22 |
| Non-Voting Shares | Buy | 18-Nov | | 29.30 | R\$ 1,377.10 |
| Non-Voting Shares | Buy | 18-Nov | | 28.80 | R\$ 8,035.20 |
| Non-Voting Shares | Buy | 18-Nov | 250 | 28.81 | R\$ 7,202.50 |
| Non-Voting Shares | Buy | 18-Nov | | 28.82 | R\$ 24,871.66 |
| Non-Voting Shares | Buy | 18-Nov | | 28.83 | R\$ 16,807.89 |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | R\$ 3,345.44 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 4,471.75 |
| Non-Voting Shares | Buy | 18-Nov | 150 | 28.86 | R\$ 4,329.00 |

| Non-Voting Shares | Buy | 18-Nov | 35 | 28.87 | R\$ 1,010.45 |
|-------------------|------------|--------|-----|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 59 | 28.88 | R\$ 1,703.92 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.94 | R\$ 2,228.38 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.98 | R\$ 2,550.24 |
| Non-Voting Shares | Buy | 18-Nov | 112 | 28.99 | R\$ 3,246.88 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.01 | R\$ 3,394.17 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.02 | R\$ 3,395.34 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 87 | | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 50 | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 29.09 | R\$ 2,996.27 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,949.70 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 183 | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,662.40 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,693.15 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 29.17 | R\$ 2,246.09 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 5,310.76 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,786.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,445.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 5,549.90 |
| Non-Voting Shares | Buy | 18-Nov | | 29.22 | R\$ 6,253.08 |
| Non-Voting Shares | Buy | 18-Nov | 307 | | R\$ 8,973.61 |
| Non-Voting Shares | Buy | 18-Nov | | 29.24 | R\$ 10,409.44 |
| Non-Voting Shares | - | 18-Nov | | 29.25 | R\$ 11,934.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.25 | R\$ 7,022.40 |
| Non-Voting Shares | Buy Buy | 18-Nov | | 29.27 | R\$ 4,917.36 |
| • | • | 18-Nov | 141 | 29.28 | R\$ 4,128.48 |
| Non-Voting Shares | Buy | 18-Nov | | 29.29 | |
| Non-Voting Shares | Buy | | | | R\$ 3,456.22 |
| Non-Voting Shares | Buy | 18-Nov | | 29.30 | R\$ 1,406.40 |
| Non-Voting Shares | Buy | 18-Nov | 277 | 28.80 | R\$ 7,977.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.81 | R\$ 7,202.50 |
| Non-Voting Shares | Buy | 18-Nov | | 28.82 | R\$ 24,900.48 |
| Non-Voting Shares | Buy | 18-Nov | | 28.83 | R\$ 16,779.06 |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | R\$ 3,316.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 4,500.60 |
| Non-Voting Shares | Buy | 18-Nov | 150 | 28.86 | R\$ 4,329.00 |

| Non-Voting Shares | Buy | 18-Nov | 34 | 28.87 | R\$ 981.58 |
|----------------------|-----|---------|-----|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 86 | 28.91 | R\$ 2,486.26 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.98 | R\$ 2,550.24 |
| Non-Voting Shares | Buy | 18-Nov | 112 | 28.99 | R\$ 3,246.88 |
| Non-Voting Shares | Buy | 18-Nov | 28 | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.01 | R\$ 3,394.17 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.02 | R\$ 3,395.34 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 50 | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 2,007.90 |
| Non-Voting Shares | Buy | 18-Nov | | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | 157 | | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,780.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,216.92 |
| Non-Voting Shares | Buy | 18-Nov | 183 | 29.18 | R\$ 5,339.94 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,640.24 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,445.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 5,608.32 |
| Non-Voting Shares | Buy | 18-Nov | | 29.22 | R\$ 6,369.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.23 | R\$ 8,944.38 |
| Non-Voting Shares | Buy | 18-Nov | | 29.24 | R\$ 10,350.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.25 | R\$ 11,992.50 |
| Non-Voting Shares | Buy | 18-Nov | | 29.26 | R\$ 7,022.40 |
| Non-Voting Shares | Buy | 18-Nov | | 29.27 | R\$ 4,917.36 |
| Non-Voting Shares | Buy | 18-Nov | 141 | | R\$ 4,128.48 |
| Non-Voting Shares | Buy | 18-Nov | | 29.29 | R\$ 3,456.22 |
| Non-Voting Shares | Buy | 18-Nov | | 29.30 | R\$ 1,347.80 |
| Non-Voting Shares | Buy | 18-Nov | 277 | 28.80 | R\$ 7,977.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.81 | R\$ 7,202.50 |
| Non-Voting Shares | Buy | 18-Nov | | 28.82 | R\$ 24,900.48 |
| Non-Voting Shares | Buy | 18-Nov | | 28.83 | R\$ 16,779.06 |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | R\$ 3,316.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 4,500.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.86 | R\$ 4,329.00 |
| TWOIT- VOLING SHALES | ьuy | 10-1107 | 130 | 20.00 | ι φ 4,023.00 |

| Non-Voting Shares | Buy | 18-Nov | 34 | 28.87 | R\$ 981.58 |
|-------------------|-----|--------|-----|-------|------------------------------|
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 28.90 | R\$ 2,976.70 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 28 | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.01 | R\$ 3,394.17 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.02 | R\$ 3,395.34 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 87 | | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 50 | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 183 | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | 157 | | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,780.60 |
| Non-Voting Shares | Buy | 18-Nov | 107 | 29.16 | R\$ 3,120.12 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 29.17 | R\$ 2,246.09 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 5,310.76 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,757.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,416.40 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 5,549.90 |
| Non-Voting Shares | Buy | 18-Nov | | 29.22 | R\$ 6,369.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.23 | R\$ 8,944.38 |
| Non-Voting Shares | Buy | 18-Nov | | 29.24 | R\$ 10,350.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.25 | R\$ 11,992.50 |
| Non-Voting Shares | Buy | 18-Nov | | 29.26 | R\$ 7,022.40 |
| Non-Voting Shares | Buy | 18-Nov | | 29.27 | R\$ 4,917.36 |
| Non-Voting Shares | Buy | 18-Nov | 141 | 29.28 | R\$ 4,128.48 |
| <u> </u> | • | 18-Nov | | 29.29 | |
| Non-Voting Shares | Buy | 18-Nov | | 29.29 | R\$ 3,456.22 R\$ 1,347.80 |
| Non-Voting Shares | Buy | | | | |
| Non-Voting Shares | Buy | 18-Nov | | 28.80 | R\$ 8,035.20 |
| Non-Voting Shares | Buy | 18-Nov | 251 | 28.81 | R\$ 7,231.31 |
| Non-Voting Shares | Buy | 18-Nov | | 28.82 | R\$ 24,871.66 |
| Non-Voting Shares | Buy | 18-Nov | | 28.83 | R\$ 16,779.06 |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | R\$ 3,345.44 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 4,471.75 |
| Non-Voting Shares | Buy | 18-Nov | 150 | 28.86 | R\$ 4,329.00 |

| | _ | | | | |
|-------------------|-----|--------|-----|----------------|---------------|
| Non-Voting Shares | Buy | 18-Nov | | 28.87 | R\$ 981.58 |
| Non-Voting Shares | Buy | 18-Nov | 59 | | R\$ 1,703.92 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.91 | R\$ 2,544.08 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.95 | R\$ 3,271.35 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,114.08 |
| Non-Voting Shares | Buy | 18-Nov | 87 | | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | | 28.98 | R\$ 2,550.24 |
| Non-Voting Shares | Buy | 18-Nov | | 28.99 | R\$ 3,246.88 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,337.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 87 | | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | | 29.05 | R\$ 2,905.00 |
| • | • | 18-Nov | | 29.05 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | | | |
| Non-Voting Shares | Buy | | 57 | 29.07 29.08 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | | | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 29.09 | R\$ 2,996.27 |
| Non-Voting Shares | Buy | 18-Nov | 67 | | R\$ 1,949.70 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,545.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,722.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,207.60 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 29.17 | R\$ 2,246.09 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 5,310.76 |
| Non-Voting Shares | Buy | 18-Nov | 301 | | R\$ 8,786.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,416.40 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 5,491.48 |
| Non-Voting Shares | Buy | 18-Nov | | 29.22 | R\$ 6,369.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.23 | R\$ 8,944.38 |
| Non-Voting Shares | Buy | 18-Nov | | 29.24 | R\$ 10,321.72 |
| Non-Voting Shares | Buy | 18-Nov | 410 | 29.25 | R\$ 11,992.50 |
| Non-Voting Shares | Buy | 18-Nov | 241 | 29.26 | R\$ 7,051.66 |
| Non-Voting Shares | Buy | 18-Nov | 168 | 29.27 | R\$ 4,917.36 |
| Non-Voting Shares | Buy | 18-Nov | 141 | 29.28 | R\$ 4,128.48 |
| Non-Voting Shares | Buy | 18-Nov | 118 | 29.29 | R\$ 3,456.22 |
| Non-Voting Shares | Buy | 18-Nov | 48 | 29.30 | R\$ 1,406.40 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.79 | R\$ 28.79 |
| Non-Voting Shares | Buy | 18-Nov | 278 | 28.80 | R\$ 8,006.40 |
| Non-Voting Shares | Buy | 18-Nov | 250 | 28.81 | R\$ 7,202.50 |
| Non-Voting Shares | Buy | 18-Nov | | 28.82 | R\$ 24,871.66 |
| Non-Voting Shares | Buy | 18-Nov | | 28.83 | R\$ 16,779.06 |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | R\$ 3,345.44 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 4,471.75 |
| • | - 3 | | | | . , |

| Non-Voting Shares | Buy | 18-Nov | 150 | 28.86 | R\$ 4,329.00 |
|-------------------|-----|--------|-----|-------|---------------------------------------|
| Non-Voting Shares | Buy | 18-Nov | 35 | 28.87 | R\$ 1,010.45 |
| Non-Voting Shares | Buy | 18-Nov | 59 | 28.88 | R\$ 1,703.92 |
| Non-Voting Shares | Buy | 18-Nov | 82 | 28.89 | R\$ 2,368.98 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 86 | 28.91 | R\$ 2,486.26 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 86 | 28.98 | R\$ 2,492.28 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.01 | R\$ 3,394.17 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.02 | R\$ 3,395.34 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 50 | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,780.60 |
| Non-Voting Shares | Buy | 18-Nov | 108 | | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.17 | R\$ 2,421.11 |
| Non-Voting Shares | Buy | 18-Nov | 177 | 29.18 | R\$ 5,164.86 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,815.38 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,387.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 5,549.90 |
| Non-Voting Shares | Buy | 18-Nov | | 29.22 | R\$ 6,253.08 |
| Non-Voting Shares | Buy | 18-Nov | | 29.23 | R\$ 8,973.61 |
| Non-Voting Shares | • | 18-Nov | | 29.24 | R\$ 10,409.44 |
| • | Buy | 18-Nov | | 29.25 | · · · · · · · · · · · · · · · · · · · |
| Non-Voting Shares | Buy | 18-Nov | | | R\$ 11,934.00 |
| Non-Voting Shares | Buy | | 241 | | R\$ 7,051.66 |
| Non-Voting Shares | Buy | 18-Nov | 167 | | R\$ 4,888.09 |
| Non-Voting Shares | Buy | 18-Nov | | 29.28 | R\$ 4,128.48 |
| Non-Voting Shares | Buy | 18-Nov | | 29.29 | R\$ 3,456.22 |
| Non-Voting Shares | Buy | 18-Nov | | 29.30 | R\$ 1,406.40 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.80 | R\$ 28.80 |
| Non-Voting Shares | Buy | 18-Nov | 511 | 28.82 | R\$ 14,727.02 |
| Non-Voting Shares | Buy | 18-Nov | | 28.83 | R\$ 16,779.06 |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | R\$ 3,345.44 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 4,471.75 |
| Non-Voting Shares | Buy | 18-Nov | 150 | 28.86 | R\$ 4,329.00 |

| Non-Voting Shares | Buy | 18-Nov | 35 | 28.87 | R\$ 1,010.45 |
|-------------------|-----|--------|-----|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 80 | 28.89 | R\$ 2,311.20 |
| Non-Voting Shares | Buy | 18-Nov | 105 | 28.90 | R\$ 3,034.50 |
| Non-Voting Shares | Buy | 18-Nov | 86 | 28.91 | R\$ 2,486.26 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.95 | R\$ 3,271.35 |
| Non-Voting Shares | Buy | 18-Nov | 73 | 28.96 | R\$ 2,114.08 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,337.30 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 87 | | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 50 | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 29.09 | R\$ 2,996.27 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 184 | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,545.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,809.75 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.17 | R\$ 2,421.11 |
| Non-Voting Shares | Buy | 18-Nov | 176 | 29.18 | R\$ 5,135.68 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,640.24 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,474.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 5,579.11 |
| Non-Voting Shares | Buy | 18-Nov | | 29.22 | R\$ 6,399.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.23 | R\$ 8,885.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.24 | R\$ 10,380.20 |
| Non-Voting Shares | • | 18-Nov | | 29.25 | R\$ 6,756.75 |
| • | Buy | 18-Nov | | 29.25 | |
| Non-Voting Shares | Buy | 18-Nov | 511 | 28.82 | R\$ 58.52 |
| Non-Voting Shares | Buy | | | | R\$ 14,727.02 |
| Non-Voting Shares | Buy | 18-Nov | | 28.83 | R\$ 16,779.06 |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | R\$ 3,345.44 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 4,471.75 |
| Non-Voting Shares | Buy | 18-Nov | | 28.86 | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | | 28.87 | R\$ 981.58 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | /6 | 28.92 | R\$ 2,197.92 |

| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
|-------------------|------------|--------|-----------|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.95 | R\$ 3,271.35 |
| Non-Voting Shares | Buy | 18-Nov | 73 | 28.96 | R\$ 2,114.08 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.98 | R\$ 2,550.24 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 29.02 | R\$ 3,337.30 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 50 | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,996.27 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,545.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,722.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,207.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,391.94 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 5,106.50 |
| Non-Voting Shares | Buy | 18-Nov | 301 | 29.19 | R\$ 8,786.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,504.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 5,462.27 |
| Non-Voting Shares | Buy | 18-Nov | | 29.22 | R\$ 6,369.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.23 | R\$ 8,885.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.24 | R\$ 10,467.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.25 | R\$ 6,669.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.26 | R\$ 87.78 |
| Non-Voting Shares | Buy | 18-Nov | | 28.82 | R\$ 14,784.66 |
| Non-Voting Shares | Buy | 18-Nov | | 28.83 | R\$ 16,779.06 |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | R\$ 3,316.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 4,500.60 |
| Non-Voting Shares | • | 18-Nov | | 28.86 | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | | 28.87 | R\$ 981.58 |
| Non-Voting Shares | Buy Buy | 18-Nov | 60 | 28.88 | R\$ 1,732.80 |
| • | - | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | | | |
| Non-Voting Shares | Buy | | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.91 | R\$ 2,486.26 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 78 114 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.98 | R\$ 2,550.24 |

| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
|-------------------|-----|--------|----------|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 28 | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.01 | R\$ 3,394.17 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.02 | R\$ 3,395.34 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 50 | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 69 | 29.10 | R\$ 2,007.90 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 183 | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | 157 | | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,780.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,216.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 5,339.94 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,640.24 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,445.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 5,520.69 |
| Non-Voting Shares | Buy | 18-Nov | | 29.22 | R\$ 6,428.40 |
| Non-Voting Shares | Buy | 18-Nov | | 29.23 | R\$ 8,973.61 |
| Non-Voting Shares | Buy | 18-Nov | | 29.24 | R\$ 10,350.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.25 | R\$ 6,786.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.26 | R\$ 58.52 |
| Non-Voting Shares | Buy | 18-Nov | | 28.82 | R\$ 14,784.66 |
| Non-Voting Shares | Buy | 18-Nov | | 28.83 | R\$ 16,807.89 |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | R\$ 3,316.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 4,500.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.86 | R\$ 4,300.14 |
| Non-Voting Shares | Buy | 18-Nov | | 28.87 | R\$ 981.58 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 28.90 | R\$ 2,976.70 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | | 28.95 | R\$ 3,300.30 |
| • | • | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | | 28.97 | |
| Non-Voting Shares | Buy | | 87 97 | | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 29 | 29.00 | R\$ 841.00 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 29.01 | R\$ 3,307.14 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,453.38 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 8/ | 29.04 | R\$ 2,526.48 |

| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
|-------------------|-----|--------|-----|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 50 | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 182 | 29.13 | R\$ 5,301.66 |
| Non-Voting Shares | Buy | 18-Nov | 160 | 29.14 | R\$ 4,662.40 |
| Non-Voting Shares | Buy | 18-Nov | 162 | 29.15 | R\$ 4,722.30 |
| Non-Voting Shares | Buy | 18-Nov | 107 | 29.16 | R\$ 3,120.12 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 29.17 | R\$ 2,246.09 |
| Non-Voting Shares | Buy | 18-Nov | 182 | 29.18 | R\$ 5,310.76 |
| Non-Voting Shares | Buy | 18-Nov | 300 | 29.19 | R\$ 8,757.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,416.40 |
| Non-Voting Shares | Buy | 18-Nov | 190 | 29.21 | R\$ 5,549.90 |
| Non-Voting Shares | Buy | 18-Nov | 217 | | R\$ 6,340.74 |
| Non-Voting Shares | Buy | 18-Nov | | 29.23 | R\$ 8,885.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.24 | R\$ 10,438.68 |
| Non-Voting Shares | Buy | 18-Nov | | 29.25 | R\$ 6,815.25 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 29.26 | R\$ 29.26 |
| Non-Voting Shares | Buy | 18-Nov | 513 | 28.82 | R\$ 14,784.66 |
| Non-Voting Shares | Buy | 18-Nov | | 28.83 | R\$ 16,807.89 |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | R\$ 3,316.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 4,471.75 |
| Non-Voting Shares | Buy | 18-Nov | 151 | 28.86 | R\$ 4,357.86 |
| Non-Voting Shares | Buy | 18-Nov | | 28.87 | R\$ 981.58 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 28.90 | R\$ 2,976.70 |
| Non-Voting Shares | Buy | 18-Nov | 87 | | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 77 | | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | | 28.98 | R\$ 2,492.28 |
| Non-Voting Shares | Buy | 18-Nov | | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 841.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,307.14 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,453.38 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 50 | 29.05 | R\$ 1,453.00 |
| Non-Voting Shares | • | 18-Nov | 60 | 29.06 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.07 | R\$ 1,657.56 |
| G | Buy | 18-Nov | | 29.08 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | | | | |
| Non-Voting Shares | Buy | 18-Nov | 80 | 29.10 | R\$ 1,978.80 |

| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
|-------------------|-----|--------|-----|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 182 | 29.13 | R\$ 5,301.66 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | 165 | 29.15 | R\$ 4,809.75 |
| Non-Voting Shares | Buy | 18-Nov | 107 | 29.16 | R\$ 3,120.12 |
| Non-Voting Shares | Buy | 18-Nov | 82 | 29.17 | R\$ 2,391.94 |
| Non-Voting Shares | Buy | 18-Nov | 176 | 29.18 | R\$ 5,135.68 |
| Non-Voting Shares | Buy | 18-Nov | 296 | 29.19 | R\$ 8,640.24 |
| Non-Voting Shares | Buy | 18-Nov | 118 | 29.20 | R\$ 3,445.60 |
| Non-Voting Shares | Buy | 18-Nov | 192 | 29.21 | R\$ 5,608.32 |
| Non-Voting Shares | Buy | 18-Nov | 217 | 29.22 | R\$ 6,340.74 |
| Non-Voting Shares | Buy | 18-Nov | 308 | 29.23 | R\$ 9,002.84 |
| Non-Voting Shares | Buy | 18-Nov | 355 | 29.24 | R\$ 10,380.20 |
| Non-Voting Shares | Buy | 18-Nov | 232 | 29.25 | R\$ 6,786.00 |
| Non-Voting Shares | Buy | 18-Nov | 2 | 29.26 | R\$ 58.52 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.83 | R\$ 3,286.62 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 28.84 | R\$ 3,345.44 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 4,471.75 |
| Non-Voting Shares | Buy | 18-Nov | | 28.86 | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | 35 | 28.87 | R\$ 1,010.45 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,366.32 |
| Non-Voting Shares | Buy | 18-Nov | 184 | 29.03 | R\$ 5,341.52 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 61 | 29.07 | R\$ 1,773.27 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| <u> </u> | • | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | | | | |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | 184 | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | 157 | | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,780.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 29.17 | R\$ 2,362.77 |

| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 5,194.04 |
|-------------------|-----|--------|-----|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,727.81 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 29.20 | R\$ 3,328.80 |
| Non-Voting Shares | Buy | 18-Nov | 190 | 29.21 | R\$ 5,549.90 |
| Non-Voting Shares | Buy | 18-Nov | 22 | 29.22 | R\$ 642.84 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 29.23 | R\$ 29.23 |
| Non-Voting Shares | Buy | 18-Nov | 43 | 28.88 | R\$ 1,241.84 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 28.90 | R\$ 2,976.70 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.91 | R\$ 2,544.08 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 73 | 28.96 | R\$ 2,114.08 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,423.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,337.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,399.58 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 29.09 | R\$ 2,996.27 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,751.45 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,275.26 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 2,217.68 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 58.38 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 2,654.20 |
| Non-Voting Shares | Buy | 18-Nov | | 28.86 | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | | 28.87 | R\$ 981.58 |
| Non-Voting Shares | | 18-Nov | | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | | | | |
| • | Buy | 18-Nov | | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |

| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
|-------------------|-----|--------|-----|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 29.02 | R\$ 3,279.26 |
| Non-Voting Shares | Buy | 18-Nov | 187 | 29.03 | R\$ 5,428.61 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 29.09 | R\$ 2,996.27 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,604.12 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,780.60 |
| Non-Voting Shares | Buy | 18-Nov | | | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | 80 | 29.17 | R\$ 2,333.60 |
| Non-Voting Shares | Buy | 18-Nov | 179 | 29.18 | R\$ 5,223.22 |
| Non-Voting Shares | Buy | 18-Nov | 234 | | R\$ 6,830.46 |
| Non-Voting Shares | Buy | 18-Nov | 13 | 29.20 | R\$ 379.60 |
| Non-Voting Shares | Buy | 18-Nov | 13 | 29.21 | R\$ 379.73 |
| Non-Voting Shares | Buy | 18-Nov | 55 | 28.91 | R\$ 1,590.05 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 114 | | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,366.32 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,341.52 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 61 | 29.07 | R\$ 1,773.27 |
| Non-Voting Shares | Buy | 18-Nov | 57 | | R\$ 1,657.56 |
| <u>~</u> | • | 18-Nov | | 29.00 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | |
| Non-Voting Shares | Buy | | 117 | | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.13 | R\$ 5,389.05 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,604.12 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 3,293.95 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 204.12 |
| Non-Voting Shares | Buy | 18-Nov | 42 | 28.88 | R\$ 1,212.96 |

| Non-Voting Shares | Buy | 18-Nov | 82 | 28.89 | R\$ 2,368.98 |
|-------------------|---------------------------------------|------------------|-----|----------------|--------------|
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 73 | 28.96 | R\$ 2,114.08 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 86 | 28.98 | R\$ 2,492.28 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.99 | R\$ 3,304.86 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 118 | 29.01 | R\$ 3,423.18 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 29.02 | R\$ 3,337.30 |
| Non-Voting Shares | Buy | 18-Nov | 186 | 29.03 | R\$ 5,399.58 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 29.09 | R\$ 2,996.27 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,604.12 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,722.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,275.26 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 2,217.68 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 58.38 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 2,683.05 |
| Non-Voting Shares | Buy | 18-Nov | | 28.86 | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | | 28.87 | R\$ 981.58 |
| Non-Voting Shares | Buy | 18-Nov | | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | · · · · · · · · · · · · · · · · · · · | 18-Nov | | 28.92 | R\$ 2,197.92 |
| • | Buy | 18-Nov | 61 | 28.93 | |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 1,764.73 |
| Non-Voting Shares | Buy | | | | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov 18-Nov | | 28.95 28.96 | R\$ 3,271.35 |
| Non-Voting Shares | Buy | | | | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,423.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,337.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,399.58 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |

| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
|-------------------|------|--------|-----|-------|-------------------------|
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 29.09 | R\$ 2,996.27 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 184 | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | 157 | 29.14 | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | 163 | 29.15 | R\$ 4,751.45 |
| Non-Voting Shares | Buy | 18-Nov | 108 | 29.16 | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 29.17 | R\$ 2,275.26 |
| Non-Voting Shares | Buy | 18-Nov | 181 | 29.18 | R\$ 5,281.58 |
| Non-Voting Shares | Buy | 18-Nov | 239 | 29.19 | R\$ 6,976.41 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 379.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 292.10 |
| Non-Voting Shares | Buy | 18-Nov | 394 | 28.83 | R\$ 11,359.02 |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | R\$ 3,316.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 4,500.60 |
| Non-Voting Shares | Buy | 18-Nov | 151 | 28.86 | R\$ 4,357.86 |
| Non-Voting Shares | Buy | 18-Nov | 34 | 28.87 | R\$ 981.58 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 28.90 | R\$ 2,976.70 |
| Non-Voting Shares | Buy | 18-Nov | | 28.91 | R\$ 2,544.08 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 61 | 28.93 | R\$ 1,764.73 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,336.15 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,453.38 |
| Non-Voting Shares | Buy | 18-Nov | 185 | | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 87 | | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,751.45 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,178.44 |
| | = 47 | | | 2 | · · + · · · · · · · · · |

| Non-Voting Shares | Buy | 18-Nov | 77 | 29.17 | R\$ 2,246.09 |
|-------------------|-----|---------|-----|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 180 | 29.18 | R\$ 5,252.40 |
| Non-Voting Shares | Buy | 18-Nov | 296 | 29.19 | R\$ 8,640.24 |
| Non-Voting Shares | Buy | 18-Nov | 120 | 29.20 | R\$ 3,504.00 |
| Non-Voting Shares | Buy | 18-Nov | 193 | 29.21 | R\$ 5,637.53 |
| Non-Voting Shares | Buy | 18-Nov | 218 | 29.22 | R\$ 6,369.96 |
| Non-Voting Shares | Buy | 18-Nov | 123 | 29.23 | R\$ 3,595.29 |
| Non-Voting Shares | Buy | 18-Nov | 2 | 29.24 | R\$ 58.48 |
| Non-Voting Shares | Buy | 18-Nov | 396 | 28.83 | R\$ 11,416.68 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 28.84 | R\$ 3,316.60 |
| Non-Voting Shares | Buy | 18-Nov | 155 | 28.85 | R\$ 4,471.75 |
| Non-Voting Shares | Buy | 18-Nov | 151 | 28.86 | R\$ 4,357.86 |
| Non-Voting Shares | Buy | 18-Nov | 33 | 28.87 | R\$ 952.71 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 28.90 | R\$ 2,976.70 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.91 | R\$ 2,544.08 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,365.16 |
| Non-Voting Shares | Buy | 18-Nov | 118 | 29.02 | R\$ 3,424.36 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 50 | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,604.12 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,722.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,178.44 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,421.11 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 5,194.04 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,581.86 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,445.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 5,637.53 |
| Non-Voting Shares | Buy | 18-Nov | | 29.22 | R\$ 6,311.52 |
| Non-Voting Shares | Buy | 18-Nov | | 29.23 | R\$ 3,624.52 |
| Non-Voting Shares | Buy | 18-Nov | | 29.24 | R\$ 116.96 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.85 | R\$ 28.85 |
| Tion voing onales | Биу | 10-1107 | ı | 20.00 | 1 (ψ 20.03 |

| Non-Voting Shares | Buy | 18-Nov | 43 | 28.88 | R\$ 1,241.84 |
|-------------------|-----|---------|-----|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | 82 | 28.89 | R\$ 2,368.98 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 28.90 | R\$ 2,976.70 |
| Non-Voting Shares | Buy | 18-Nov | 86 | 28.91 | R\$ 2,486.26 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.98 | R\$ 2,550.24 |
| Non-Voting Shares | Buy | 18-Nov | 112 | 28.99 | R\$ 3,246.88 |
| Non-Voting Shares | Buy | 18-Nov | 28 | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.01 | R\$ 3,365.16 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.02 | R\$ 3,395.34 |
| Non-Voting Shares | Buy | 18-Nov | 186 | 29.03 | R\$ 5,399.58 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 69 | 29.10 | R\$ 2,007.90 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | 157 | 29.14 | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,780.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,178.44 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,391.94 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 2,100.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 58.38 |
| Non-Voting Shares | Buy | 18-Nov | | 28.83 | R\$ 7,293.99 |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | R\$ 3,316.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 4,471.75 |
| Non-Voting Shares | Buy | 18-Nov | | 28.86 | R\$ 4,357.86 |
| Non-Voting Shares | Buy | 18-Nov | | 28.87 | R\$ 981.58 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.89 | R\$ 2,368.98 |
| Non-Voting Shares | Buy | 18-Nov | | 28.90 | R\$ 2,976.70 |
| Non-Voting Shares | Buy | 18-Nov | | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,336.15 |
| 59 5 | Lay | 10 1101 | | _3.5. | |

| Non-Voting Shares | Buy | 18-Nov | 119 | 29.02 | R\$ 3,453.38 |
|-------------------|-----|--------|-----|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,341.52 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 50 | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | 157 | 29.14 | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | 163 | 29.15 | R\$ 4,751.45 |
| Non-Voting Shares | Buy | 18-Nov | 109 | 29.16 | R\$ 3,178.44 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,421.11 |
| Non-Voting Shares | Buy | 18-Nov | 178 | 29.18 | R\$ 5,194.04 |
| Non-Voting Shares | Buy | 18-Nov | 301 | 29.19 | R\$ 8,786.19 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 29.20 | R\$ 3,358.00 |
| Non-Voting Shares | Buy | 18-Nov | 190 | 29.21 | R\$ 5,549.90 |
| Non-Voting Shares | Buy | 18-Nov | 167 | 29.22 | R\$ 4,879.74 |
| Non-Voting Shares | Buy | 18-Nov | 15 | 29.23 | R\$ 438.45 |
| Non-Voting Shares | Buy | 18-Nov | 42 | 28.88 | R\$ 1,212.96 |
| Non-Voting Shares | Buy | 18-Nov | 82 | 28.89 | R\$ 2,368.98 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 89 | 28.97 | R\$ 2,578.33 |
| Non-Voting Shares | Buy | 18-Nov | 86 | 28.98 | R\$ 2,492.28 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.99 | R\$ 3,304.86 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 118 | 29.01 | R\$ 3,423.18 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 29.02 | R\$ 3,337.30 |
| Non-Voting Shares | Buy | 18-Nov | 186 | 29.03 | R\$ 5,399.58 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 29.09 | R\$ 2,996.27 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,604.12 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,722.30 |
| Non-Voting Shares | Buy | 18-Nov | 108 | 29.16 | R\$ 3,149.28 |
| | | | | | |

| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,275.26 |
|-------------------------------------|------------|--------|-----|----------------|--------------|
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 2,217.68 |
| Non-Voting Shares | Buy | 18-Nov | 2 | 29.19 | R\$ 58.38 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.83 | R\$ 28.83 |
| Non-Voting Shares | Buy | 18-Nov | 92 | 28.85 | R\$ 2,654.20 |
| Non-Voting Shares | Buy | 18-Nov | 150 | 28.86 | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | 34 | 28.87 | R\$ 981.58 |
| Non-Voting Shares | Buy | 18-Nov | 61 | 28.88 | R\$ 1,761.68 |
| Non-Voting Shares | Buy | 18-Nov | 80 | 28.89 | R\$ 2,311.20 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 59 | 28.93 | R\$ 1,706.87 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,279.26 |
| Non-Voting Shares | Buy | 18-Nov | 187 | 29.03 | R\$ 5,428.61 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 29.09 | R\$ 2,996.27 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 116 | | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,604.12 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,780.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,421.11 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 5,135.68 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 6,947.22 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 438.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 233.68 |
| Non-Voting Shares | Buy | 18-Nov | | 28.83 | R\$ 4,872.27 |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | R\$ 3,345.44 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 4,471.75 |
| Non-Voting Shares | Buy | 18-Nov | 151 | 28.86 | R\$ 4,357.86 |
| Non-Voting Shares | Buy | 18-Nov | | 28.87 | R\$ 981.58 |
| Non-Voting Shares | • | 18-Nov | | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy Buy | 18-Nov | | 28.89 | R\$ 2,368.98 |
| • | • | | | | |
| Non-Voting Shares Non-Voting Shares | Buy | 18-Nov | | 28.90 28.91 | R\$ 2,976.70 |
| _ | Buy | 18-Nov | | | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | // | 28.92 | R\$ 2,226.84 |

| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
|-------------------|-----|--------------|-----|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 28 | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 29.01 | R\$ 3,336.15 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.02 | R\$ 3,453.38 |
| Non-Voting Shares | Buy | 18-Nov | 184 | 29.03 | R\$ 5,341.52 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 50 | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,604.12 |
| Non-Voting Shares | Buy | 18-Nov | 163 | 29.15 | R\$ 4,751.45 |
| Non-Voting Shares | Buy | 18-Nov | 107 | 29.16 | R\$ 3,120.12 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,333.60 |
| Non-Voting Shares | Buy | 18-Nov | 181 | 29.18 | R\$ 5,281.58 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,611.05 |
| Non-Voting Shares | Buy | 18-Nov | 118 | | R\$ 3,445.60 |
| Non-Voting Shares | Buy | 18-Nov | 191 | 29.21 | R\$ 5,579.11 |
| Non-Voting Shares | Buy | 18-Nov | | 29.22 | R\$ 2,279.16 |
| Non-Voting Shares | Buy | 18-Nov | 7 | 29.23 | R\$ 204.61 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 29.24 | R\$ 29.24 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.88 | R\$ 28.88 |
| Non-Voting Shares | Buy | 18-Nov | | 28.91 | R\$ 375.83 |
| Non-Voting Shares | Buy | 18-Nov | | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.95 | R\$ 3,271.35 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | | 28.98 | R\$ 2,492.28 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.99 | R\$ 3,304.86 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,279.26 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,428.61 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.08 | R\$ 1,686.64 |
| 5 = | , | - - - | | | , , |

| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
|---------------------|-----|---------|-----|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | 183 | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | 161 | | R\$ 4,691.54 |
| Non-Voting Shares | Buy | 18-Nov | 66 | 29.15 | R\$ 1,923.90 |
| Non-Voting Shares | Buy | 18-Nov | 3 | 29.16 | R\$ 87.48 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.83 | R\$ 28.83 |
| Non-Voting Shares | Buy | 18-Nov | 14 | 28.91 | R\$ 404.74 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 59 | 28.93 | R\$ 1,706.87 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 28 | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 29.02 | R\$ 3,308.28 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.08 | R\$ 1,686.64 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,389.05 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,604.12 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 2,011.35 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 87.48 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 2,596.50 |
| Non-Voting Shares | Buy | 18-Nov | 151 | 28.86 | R\$ 4,357.86 |
| Non-Voting Shares | Buy | 18-Nov | | 28.87 | R\$ 1,010.45 |
| Non-Voting Shares | Buy | 18-Nov | 59 | 28.88 | R\$ 1,703.92 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 783.00 |
| Table voling Shares | ьиу | 10-1107 | ۷. | 25.00 | 1 τφ 7 σσ.00 |

| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |
|-------------------|-----|--------|-----|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.02 | R\$ 3,366.32 |
| Non-Voting Shares | Buy | 18-Nov | 184 | 29.03 | R\$ 5,341.52 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 61 | 29.07 | R\$ 1,773.27 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | 82 | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | 184 | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | 157 | 29.14 | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | 164 | 29.15 | R\$ 4,780.60 |
| Non-Voting Shares | Buy | 18-Nov | 108 | 29.16 | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | 82 | 29.17 | R\$ 2,391.94 |
| Non-Voting Shares | Buy | 18-Nov | 177 | 29.18 | R\$ 5,164.86 |
| Non-Voting Shares | Buy | 18-Nov | 237 | 29.19 | R\$ 6,918.03 |
| Non-Voting Shares | Buy | 18-Nov | 12 | 29.20 | R\$ 350.40 |
| Non-Voting Shares | Buy | 18-Nov | 11 | 29.21 | R\$ 321.31 |
| Non-Voting Shares | Buy | 18-Nov | 395 | 28.83 | R\$ 11,387.85 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 28.84 | R\$ 3,345.44 |
| Non-Voting Shares | Buy | 18-Nov | 155 | 28.85 | R\$ 4,471.75 |
| Non-Voting Shares | Buy | 18-Nov | 151 | 28.86 | R\$ 4,357.86 |
| Non-Voting Shares | Buy | 18-Nov | 34 | 28.87 | R\$ 981.58 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 28.90 | R\$ 2,976.70 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 61 | 28.93 | R\$ 1,764.73 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 28 | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,365.16 |
| Non-Voting Shares | Buy | 18-Nov | 118 | 29.02 | R\$ 3,424.36 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 50 | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| | | | | | |

| Non-Voting Shares | Buy | 18-Nov | 183 | 29.13 | R\$ 5,330.79 |
|-------------------|-----|---------|-----|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,516.70 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,809.75 |
| Non-Voting Shares | Buy | 18-Nov | 109 | 29.16 | R\$ 3,178.44 |
| Non-Voting Shares | Buy | 18-Nov | 80 | 29.17 | R\$ 2,333.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 5,252.40 |
| Non-Voting Shares | Buy | 18-Nov | 296 | 29.19 | R\$ 8,640.24 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 29.20 | R\$ 3,358.00 |
| Non-Voting Shares | Buy | 18-Nov | 192 | 29.21 | R\$ 5,608.32 |
| Non-Voting Shares | Buy | 18-Nov | 218 | 29.22 | R\$ 6,369.96 |
| Non-Voting Shares | Buy | 18-Nov | 123 | 29.23 | R\$ 3,595.29 |
| Non-Voting Shares | Buy | 18-Nov | 6 | 29.24 | R\$ 175.44 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.90 | R\$ 28.90 |
| Non-Voting Shares | Buy | 18-Nov | 13 | 28.91 | R\$ 375.83 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.95 | R\$ 3,271.35 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 85 | 28.98 | R\$ 2,463.30 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.99 | R\$ 3,304.86 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 29.02 | R\$ 3,279.26 |
| Non-Voting Shares | Buy | 18-Nov | 187 | | R\$ 5,428.61 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.08 | R\$ 1,686.64 |
| Non-Voting Shares | Buy | 18-Nov | 102 | | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,691.54 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 1,923.90 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 87.48 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.93 | R\$ 28.93 |
| Non-Voting Shares | Buy | 18-Nov | - | 28.95 | R\$ 202.65 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,027.20 |
| Non-Voting Shares | Buy | 18-Nov | | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,366.32 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 5,341.52 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 2,555.52 |
| _ | • | 18-Nov | | | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 10-1107 | 100 | 29.05 | na 2,800.00 |

| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
|-------------------|-----|---------|-----|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 61 | 29.07 | R\$ 1,773.27 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 47 | 29.13 | R\$ 1,369.11 |
| Non-Voting Shares | Buy | 18-Nov | 93 | 28.85 | R\$ 2,683.05 |
| Non-Voting Shares | Buy | 18-Nov | 150 | 28.86 | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | 34 | 28.87 | R\$ 981.58 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 82 | 28.89 | R\$ 2,368.98 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 28.90 | R\$ 2,976.70 |
| Non-Voting Shares | Buy | 18-Nov | | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 118 | | R\$ 3,423.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,337.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,399.58 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 29.09 | R\$ 2,996.27 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | 157 | | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,751.45 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,275.26 |
| Non-Voting Shares | Buy | 18-Nov | 181 | 29.18 | R\$ 5,281.58 |
| Non-Voting Shares | Buy | 18-Nov | 239 | | R\$ 6,976.41 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 379.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 292.10 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 2,654.20 |
| Non-Voting Shares | Buy | 18-Nov | 150 | 28.86 | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | | 28.87 | R\$ 981.58 |
| Non-Voting Shares | Buy | 18-Nov | | 28.88 | R\$ 1,790.56 |
| Non-Voting Shares | Buy | 18-Nov | | 28.89 | R\$ 2,311.20 |
| Non-Voting Shares | Buy | 18-Nov | | 28.90 | R\$ 3,005.60 |
| Tion voing onales | Биу | 10-1107 | 104 | 20.30 | 1 ιφ 3,003.00 |

| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
|-------------------|-----|--------|-----------|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 86 | 28.98 | R\$ 2,492.28 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 29.02 | R\$ 3,279.26 |
| Non-Voting Shares | Buy | 18-Nov | 187 | 29.03 | R\$ 5,428.61 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 29.09 | R\$ 2,996.27 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 183 | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,604.12 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,780.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,421.11 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 5,135.68 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 6,947.22 |
| Non-Voting Shares | Buy | 18-Nov | 15 | 29.20 | R\$ 438.00 |
| Non-Voting Shares | Buy | 18-Nov | 8 | 29.21 | R\$ 233.68 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 2,654.20 |
| Non-Voting Shares | Buy | 18-Nov | | 28.86 | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | | 28.87 | R\$ 981.58 |
| Non-Voting Shares | Buy | 18-Nov | 61 | 28.88 | R\$ 1,761.68 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | | 28.95 | R\$ 3,300.30 |
| - | | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | | 28.97 | |
| Non-Voting Shares | Buy | 18-Nov | | | R\$ 2,549.36 |
| Non-Voting Shares | Buy | | | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | | 28.99 | R\$ 3,246.88 |
| Non-Voting Shares | Buy | 18-Nov | 27 110 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,279.26 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,428.61 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |

| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
|-------------------|------------|--------|----------|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 29.09 | R\$ 2,996.27 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 183 | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | 158 | 29.14 | R\$ 4,604.12 |
| Non-Voting Shares | Buy | 18-Nov | 164 | 29.15 | R\$ 4,780.60 |
| Non-Voting Shares | Buy | 18-Nov | 108 | 29.16 | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.17 | R\$ 2,421.11 |
| Non-Voting Shares | Buy | 18-Nov | 176 | 29.18 | R\$ 5,135.68 |
| Non-Voting Shares | Buy | 18-Nov | 238 | 29.19 | R\$ 6,947.22 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 438.00 |
| Non-Voting Shares | Buy | 18-Nov | 8 | 29.21 | R\$ 233.68 |
| Non-Voting Shares | Buy | 18-Nov | 253 | 28.83 | R\$ 7,293.99 |
| Non-Voting Shares | Buy | 18-Nov | 116 | | R\$ 3,345.44 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 4,471.75 |
| Non-Voting Shares | Buy | 18-Nov | 151 | 28.86 | R\$ 4,357.86 |
| Non-Voting Shares | Buy | 18-Nov | 34 | 28.87 | R\$ 981.58 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 3,336.15 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,453.38 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 5,370.55 |
| Non-Voting Shares | • | 18-Nov | | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.04 | R\$ 2,905.00 |
| Non-Voting Shares | Buy Buy | 18-Nov | 50 | 29.05 | R\$ 1,453.00 |
| • | • | 18-Nov | | 29.07 | |
| Non-Voting Shares | Buy | | 60 57 | | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,545.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,780.60 |
| Non-Voting Shares | Buy | 18-Nov | 107 | 29.16 | R\$ 3,120.12 |

| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,479.45 |
|-------------------|-----|--------|-----|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 5,106.50 |
| Non-Voting Shares | Buy | 18-Nov | 296 | 29.19 | R\$ 8,640.24 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.20 | R\$ 3,474.80 |
| Non-Voting Shares | Buy | 18-Nov | 191 | 29.21 | R\$ 5,579.11 |
| Non-Voting Shares | Buy | 18-Nov | 170 | 29.22 | R\$ 4,967.40 |
| Non-Voting Shares | Buy | 18-Nov | 15 | 29.23 | R\$ 438.45 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.74 | R\$ 28.74 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.83 | R\$ 3,286.62 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 28.84 | R\$ 3,316.60 |
| Non-Voting Shares | Buy | 18-Nov | 155 | 28.85 | R\$ 4,471.75 |
| Non-Voting Shares | Buy | 18-Nov | 150 | 28.86 | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | 35 | 28.87 | R\$ 1,010.45 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 80 | 28.89 | R\$ 2,311.20 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 86 | 28.91 | R\$ 2,486.26 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 29.02 | R\$ 3,308.28 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 58 | | R\$ 1,686.64 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,604.12 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,722.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,178.44 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,391.94 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 5,223.22 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,727.81 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,358.00 |
| • | • | 18-Nov | | 29.21 | |
| Non-Voting Shares | Buy | 18-Nov | | | R\$ 5,549.90 |
| Non-Voting Shares | Buy | | _ | 29.22 | R\$ 555.18 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 29.23 | R\$ 29.23 |
| Non-Voting Shares | Buy | 18-Nov | | 28.83 | R\$ 3,286.62 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 28.84 | R\$ 3,316.60 |

| Non-Voting Shares | Buy | 18-Nov | 156 | 28.85 | R\$ 4,500.60 |
|-------------------|-----|--------|----------|----------------|---------------------------------------|
| Non-Voting Shares | Buy | 18-Nov | 151 | 28.86 | R\$ 4,357.86 |
| Non-Voting Shares | Buy | 18-Nov | 34 | 28.87 | R\$ 981.58 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 118 | 29.01 | R\$ 3,423.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,337.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,399.58 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 29.09 | R\$ 2,996.27 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | 157 | | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,751.45 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 29.17 | R\$ 2,246.09 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 5,339.94 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,786.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,387.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 5,549.90 |
| Non-Voting Shares | Buy | 18-Nov | | 29.22 | R\$ 525.96 |
| Non-Voting Shares | • | 18-Nov | 1 | 29.23 | R\$ 29.23 |
| • | Buy | 18-Nov | | 28.85 | · · · · · · · · · · · · · · · · · · · |
| Non-Voting Shares | Buy | | 1 13 | | R\$ 28.85 |
| Non-Voting Shares | Buy | 18-Nov | | 28.91 | R\$ 375.83 |
| Non-Voting Shares | Buy | 18-Nov | 76 50 | 28.92 28.93 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 59 70 | | R\$ 1,706.87 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | | 28.95 | R\$ 3,271.35 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | | 28.98 | R\$ 2,492.28 |
| Non-Voting Shares | Buy | 18-Nov | | 28.99 | R\$ 3,304.86 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |

| Non-Voting Shares | Buy | 18-Nov | 113 | 29.02 | R\$ 3,279.26 |
|-------------------|-----|------------------|-----|----------------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 187 | 29.03 | R\$ 5,428.61 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 58 | 29.08 | R\$ 1,686.64 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | 82 | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | 183 | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | 161 | 29.14 | R\$ 4,691.54 |
| Non-Voting Shares | Buy | 18-Nov | 66 | 29.15 | R\$ 1,923.90 |
| Non-Voting Shares | Buy | 18-Nov | 3 | 29.16 | R\$ 87.48 |
| Non-Voting Shares | Buy | 18-Nov | 396 | 28.83 | R\$ 11,416.68 |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | R\$ 3,316.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.85 | R\$ 4,500.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.86 | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | | 28.87 | R\$ 981.58 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 841.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,307.14 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,453.38 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | • | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| • | Buy | 18-Nov | | 29.11 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | |
| Non-Voting Shares | Buy | | | | R\$ 5,301.66 |
| Non-Voting Shares | Buy | 18-Nov 18-Nov | | 29.14 29.15 | R\$ 4,662.40 |
| Non-Voting Shares | Buy | | | | R\$ 4,722.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,120.12 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,304.43 |
| Non-Voting Shares | Buy | 18-Nov | 182 | 29.18 | R\$ 5,310.76 |

| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,727.81 |
|-------------------|-----|--------|-----|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,358.00 |
| Non-Voting Shares | Buy | 18-Nov | 191 | 29.21 | R\$ 5,579.11 |
| Non-Voting Shares | Buy | 18-Nov | 217 | 29.22 | R\$ 6,340.74 |
| Non-Voting Shares | Buy | 18-Nov | 126 | 29.23 | R\$ 3,682.98 |
| Non-Voting Shares | Buy | 18-Nov | | 29.24 | R\$ 87.72 |
| Non-Voting Shares | Buy | 18-Nov | 395 | 28.83 | R\$ 11,387.85 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 28.84 | R\$ 3,345.44 |
| Non-Voting Shares | Buy | 18-Nov | 155 | 28.85 | R\$ 4,471.75 |
| Non-Voting Shares | Buy | 18-Nov | 151 | 28.86 | R\$ 4,357.86 |
| Non-Voting Shares | Buy | 18-Nov | 34 | 28.87 | R\$ 981.58 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 28.90 | R\$ 2,976.70 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 59 | 28.93 | R\$ 1,706.87 |
| Non-Voting Shares | Buy | 18-Nov | 80 | 28.94 | R\$ 2,315.20 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 28 | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.01 | R\$ 3,365.16 |
| Non-Voting Shares | Buy | 18-Nov | 118 | 29.02 | R\$ 3,424.36 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 29.04 | R\$ 2,526.48 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 50 | 29.06 | R\$ 1,453.00 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,516.70 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,809.75 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,178.44 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,333.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 5,252.40 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 8,640.24 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 3,358.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.21 | R\$ 5,608.32 |
| Non-Voting Shares | Buy | 18-Nov | | 29.22 | R\$ 6,369.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.23 | R\$ 3,653.75 |
| Non-Voting Shares | Buy | 18-Nov | | 29.24 | R\$ 116.96 |
| Non-Voting Shares | Buy | 18-Nov | | 28.88 | R\$ 1,270.72 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | | 28.90 | R\$ 3,005.60 |
| Tolling Orlando | zay | 10.400 | 101 | _0.00 | φ ο,σσο.σσ |

| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
|-------------------|-----|------------------|-----------|----------------|--------------|
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 118 | 29.01 | R\$ 3,423.18 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.02 | R\$ 3,395.34 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 29.09 | R\$ 2,996.27 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 184 | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,545.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,780.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,275.26 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 2,276.04 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 29.19 | R\$ 29.19 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.86 | R\$ 28.86 |
| Non-Voting Shares | Buy | 18-Nov | | 28.91 | R\$ 346.92 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 61 | 28.93 | R\$ 1,764.73 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,365.16 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.02 | R\$ 3,395.34 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 5,399.58 |
| Non-Voting Shares | • | 18-Nov | | 29.03 | R\$ 2,555.52 |
| • | Buy | 18-Nov | 100 | 29.04 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.05 | |
| Non-Voting Shares | Buy | | | | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov 18-Nov | 60 57 | 29.07 29.08 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | | 57 102 | | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 2,007.90 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.11 | R\$ 3,376.76 |

| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
|-------------------|------------|--------|----------|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | 184 | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | 157 | 29.14 | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 29.15 | R\$ 2,069.65 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 29.16 | R\$ 29.16 |
| Non-Voting Shares | Buy | 18-Nov | 43 | 28.88 | R\$ 1,241.84 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 59 | 28.93 | R\$ 1,706.87 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,307.14 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,453.38 |
| Non-Voting Shares | Buy | 18-Nov | 186 | | R\$ 5,399.58 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,545.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,838.90 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,090.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,304.43 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 29.18 | R\$ 2,246.86 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 29.19 | R\$ 29.19 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.83 | R\$ 28.83 |
| Non-Voting Shares | • | 18-Nov | | 28.88 | R\$ 1,212.96 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| • | • | 18-Nov | 87 | 28.91 | |
| Non-Voting Shares | Buy | | | | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 76 60 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.95 | R\$ 3,271.35 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | | 28.98 | R\$ 2,492.28 |
| Non-Voting Shares | Buy | 18-Nov | | 28.99 | R\$ 3,304.86 |
| Non-Voting Shares | Buy | 18-Nov | 28 | 29.00 | R\$ 812.00 |

| Non-Voting Shares | Buy | 18-Nov | 118 | 29.01 | R\$ 3,423.18 |
|----------------------|-----|---------|-----|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 113 | 29.02 | R\$ 3,279.26 |
| Non-Voting Shares | Buy | 18-Nov | 187 | 29.03 | R\$ 5,428.61 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 58 | 29.08 | R\$ 1,686.64 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 184 | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | 156 | 29.14 | R\$ 4,545.84 |
| Non-Voting Shares | Buy | 18-Nov | 164 | 29.15 | R\$ 4,780.60 |
| Non-Voting Shares | Buy | 18-Nov | 108 | 29.16 | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,450.28 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 29.18 | R\$ 2,071.78 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 29.19 | R\$ 29.19 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.83 | R\$ 3,286.62 |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | R\$ 3,316.60 |
| Non-Voting Shares | Buy | 18-Nov | 156 | 28.85 | R\$ 4,500.60 |
| Non-Voting Shares | Buy | 18-Nov | 150 | 28.86 | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | 35 | 28.87 | R\$ 1,010.45 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 80 | 28.89 | R\$ 2,311.20 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | | 28.98 | R\$ 2,492.28 |
| Non-Voting Shares | Buy | 18-Nov | | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,308.28 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.08 | R\$ 1,686.64 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 4,545.84 |
| 14011 Voting Offares | Биу | 10 1100 | 130 | 20.17 | ι ιψ τ,υτυ.υτ |

| Non-Voting Shares | Buy | 18-Nov | 166 | 29.15 | R\$ 4,838.90 |
|-------------------|-----|--------|-----|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | 107 | 29.16 | R\$ 3,120.12 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 29.17 | R\$ 2,216.92 |
| Non-Voting Shares | Buy | 18-Nov | 183 | 29.18 | R\$ 5,339.94 |
| Non-Voting Shares | Buy | 18-Nov | 295 | 29.19 | R\$ 8,611.05 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.20 | R\$ 3,474.80 |
| Non-Voting Shares | Buy | 18-Nov | 193 | 29.21 | R\$ 5,637.53 |
| Non-Voting Shares | Buy | 18-Nov | 18 | 29.22 | R\$ 525.96 |
| Non-Voting Shares | Buy | 18-Nov | 43 | 28.88 | R\$ 1,241.84 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.95 | R\$ 3,271.35 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 86 | 28.98 | R\$ 2,492.28 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.99 | R\$ 3,304.86 |
| Non-Voting Shares | Buy | 18-Nov | 28 | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.01 | R\$ 3,394.17 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 29.02 | R\$ 3,279.26 |
| Non-Voting Shares | Buy | 18-Nov | 187 | 29.03 | R\$ 5,428.61 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.08 | R\$ 1,686.64 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,545.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,809.75 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,090.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,479.45 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 29.18 | R\$ 2,071.78 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 29.19 | R\$ 29.19 |
| Non-Voting Shares | Buy | 18-Nov | | 28.88 | R\$ 1,212.96 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.98 | R\$ 2,550.24 |

| Non-Voting Shares | Buy | 18-Nov | | 28.99 | R\$ 3,275.87 |
|-------------------|-----|--------|-----|----------------|--------------|
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,365.16 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.02 | R\$ 3,395.34 |
| Non-Voting Shares | Buy | 18-Nov | 186 | 29.03 | R\$ 5,399.58 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 69 | 29.10 | R\$ 2,007.90 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 184 | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | 156 | 29.14 | R\$ 4,545.84 |
| Non-Voting Shares | Buy | 18-Nov | 162 | 29.15 | R\$ 4,722.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,207.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,216.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 2,276.04 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 29.19 | R\$ 29.19 |
| Non-Voting Shares | Buy | 18-Nov | | 28.83 | R\$ 3,257.79 |
| Non-Voting Shares | Buy | 18-Nov | | 28.84 | R\$ 3,345.44 |
| Non-Voting Shares | Buy | 18-Nov | 155 | 28.85 | R\$ 4,471.75 |
| Non-Voting Shares | Buy | 18-Nov | 150 | 28.86 | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | | 28.87 | R\$ 1,010.45 |
| Non-Voting Shares | Buy | 18-Nov | | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 80 | 28.89 | R\$ 2,311.20 |
| Non-Voting Shares | Buy | 18-Nov | 104 | | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,257.32 |
| • | | 18-Nov | | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | | | |
| Non-Voting Shares | Buy | 18-Nov | | 28.98 28.99 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | | | | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,308.28 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.08 | R\$ 1,686.64 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | 82 | 29.12 | R\$ 2,387.84 |

| Non-Voting Shares | Buy | 18-Nov | 184 | 29.13 | R\$ 5,359.92 |
|-------------------|------------|--------|-----|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | 158 | 29.14 | R\$ 4,604.12 |
| Non-Voting Shares | Buy | 18-Nov | 162 | 29.15 | R\$ 4,722.30 |
| Non-Voting Shares | Buy | 18-Nov | 109 | 29.16 | R\$ 3,178.44 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 29.17 | R\$ 2,362.77 |
| Non-Voting Shares | Buy | 18-Nov | 178 | 29.18 | R\$ 5,194.04 |
| Non-Voting Shares | Buy | 18-Nov | 298 | 29.19 | R\$ 8,698.62 |
| Non-Voting Shares | Buy | 18-Nov | 118 | 29.20 | R\$ 3,445.60 |
| Non-Voting Shares | Buy | 18-Nov | 189 | 29.21 | R\$ 5,520.69 |
| Non-Voting Shares | Buy | 18-Nov | 19 | 29.22 | R\$ 555.18 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 29.23 | R\$ 29.23 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.82 | R\$ 28.82 |
| Non-Voting Shares | Buy | 18-Nov | 92 | 28.85 | R\$ 2,654.20 |
| Non-Voting Shares | Buy | 18-Nov | 150 | 28.86 | R\$ 4,329.00 |
| Non-Voting Shares | Buy | 18-Nov | | 28.87 | R\$ 981.58 |
| Non-Voting Shares | Buy | 18-Nov | | 28.88 | R\$ 1,732.80 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |
| Non-Voting Shares | Buy | 18-Nov | 104 | | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | | 28.98 | R\$ 2,492.28 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,279.26 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,428.61 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 29.09 | R\$ 2,996.27 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | • | 18-Nov | | 29.11 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 4,604.12 |
| • | Buy Buy | 18-Nov | | 29.14 | R\$ 4,780.60 |
| Non-Voting Shares | • | | | | |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,421.11 |
| Non-Voting Shares | Buy | 18-Nov | 177 | 29.18 | R\$ 5,164.86 |
| Non-Voting Shares | Buy | 18-Nov | | 29.19 | R\$ 6,830.46 |
| Non-Voting Shares | Buy | 18-Nov | | 29.20 | R\$ 438.00 |
| Non-Voting Shares | Buy | 18-Nov | 11 | 29.21 | R\$ 321.31 |
| Non-Voting Shares | Buy | 18-Nov | | 28.88 | R\$ 1,241.84 |
| Non-Voting Shares | Buy | 18-Nov | 81 | 28.89 | R\$ 2,340.09 |

| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
|-------------------|-----|--------|----------|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 86 | 28.98 | R\$ 2,492.28 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.99 | R\$ 3,304.86 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 29.02 | R\$ 3,337.30 |
| Non-Voting Shares | Buy | 18-Nov | 186 | 29.03 | R\$ 5,399.58 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 58 | 29.08 | R\$ 1,686.64 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 184 | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | 157 | 29.14 | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,751.45 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,304.43 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 29.18 | R\$ 2,217.68 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 29.19 | R\$ 29.19 |
| Non-Voting Shares | Buy | 18-Nov | | 28.93 | R\$ 925.76 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 117 | | R\$ 3,394.17 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,337.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 5,428.61 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | • | 18-Nov | 49 | | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | | 29.07 | |
| _ | Buy | | 60 57 | | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 2,007.90 |
| Non-Voting Shares | Buy | 18-Nov | | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 184 | 29.13 | R\$ 5,359.92 |

| Non-Voting Shares | Buy | 18-Nov | 92 | 29.14 | R\$ 2,680.88 |
|----------------------|-----|--------|-----|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 1 | 29.15 | R\$ 29.15 |
| Non-Voting Shares | Buy | 18-Nov | 62 | 28.95 | R\$ 1,794.90 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.02 | R\$ 3,366.32 |
| Non-Voting Shares | Buy | 18-Nov | 184 | 29.03 | R\$ 5,341.52 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 61 | 29.07 | R\$ 1,773.27 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 29.13 | R\$ 3,000.39 |
| Non-Voting Shares | Buy | 18-Nov | 41 | 28.90 | R\$ 1,184.90 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 61 | 28.93 | R\$ 1,764.73 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | | 28.95 | R\$ 3,242.40 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | | 28.98 | R\$ 2,492.28 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.99 | R\$ 3,304.86 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 117 | | R\$ 3,394.17 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,395.34 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.08 | R\$ 1,686.64 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,809.75 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 1,253.88 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 58.34 |
| Non-Voting Shares | Buy | 18-Nov | | 28.93 | R\$ 896.83 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,286.26 |
| 1.511 Voting Offares | Day | 10 140 | , 5 | _0.07 | ι ιψ 2,200.20 |

| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
|-------------------|------------|--------|-----|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | 89 | 28.97 | R\$ 2,578.33 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 29.01 | R\$ 3,336.15 |
| Non-Voting Shares | Buy | 18-Nov | 118 | 29.02 | R\$ 3,424.36 |
| Non-Voting Shares | Buy | 18-Nov | 187 | 29.03 | R\$ 5,428.61 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 2,680.88 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 29.15 | R\$ 29.15 |
| Non-Voting Shares | Buy | 18-Nov | 42 | | R\$ 1,213.80 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 76 | | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.95 | R\$ 3,271.35 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | | 28.97 | R\$ 2,578.33 |
| Non-Voting Shares | Buy | 18-Nov | 86 | 28.98 | R\$ 2,492.28 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.99 | R\$ 3,304.86 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,423.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,279.26 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,428.61 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | - | 18-Nov | | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.07 | R\$ 1,686.64 |
| Non-Voting Shares | Buy Buy | 18-Nov | 102 | | R\$ 2,967.18 |
| • | • | 18-Nov | | 29.10 | |
| Non-Voting Shares | Buy | | | | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,545.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,809.75 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 1,253.88 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 116.68 |
| Non-Voting Shares | Buy | 18-Nov | | 28.95 | R\$ 1,737.00 |
| Non-Voting Shares | Buy | 18-Nov | /2 | 28.96 | R\$ 2,085.12 |

| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
|-------------------------------------|------------|--------|-----|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | 86 | 28.98 | R\$ 2,492.28 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.99 | R\$ 3,304.86 |
| Non-Voting Shares | Buy | 18-Nov | 28 | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.01 | R\$ 3,365.16 |
| Non-Voting Shares | Buy | 18-Nov | 118 | 29.02 | R\$ 3,424.36 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 61 | 29.07 | R\$ 1,773.27 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.13 | R\$ 2,971.26 |
| Non-Voting Shares | Buy | 18-Nov | 41 | 28.90 | R\$ 1,184.90 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 28.95 | R\$ 3,329.25 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.02 | R\$ 3,366.32 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,341.52 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | | 29.07 | R\$ 1,773.27 |
| Non-Voting Shares | Buy | 18-Nov | | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,389.05 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,751.45 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 1,312.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 58.34 |
| Non-Voting Shares | • | 18-Nov | 1 | 28.88 | R\$ 28.88 |
| Non-Voting Shares | Buy Buy | 18-Nov | | 28.90 | R\$ 1,156.00 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| • | • | | | 28.92 | |
| Non-Voting Shares Non-Voting Shares | Buy | 18-Nov | | 28.92 | R\$ 2,197.92 |
| _ | Buy | 18-Nov | | | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |

| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
|-------------------|------------|--------|-----|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 28 | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 29.01 | R\$ 3,307.14 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.02 | R\$ 3,453.38 |
| Non-Voting Shares | Buy | 18-Nov | 186 | 29.03 | R\$ 5,399.58 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,389.05 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,604.12 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,722.30 |
| Non-Voting Shares | Buy | 18-Nov | 43 | 29.16 | R\$ 1,253.88 |
| Non-Voting Shares | Buy | 18-Nov | 3 | 29.17 | R\$ 87.51 |
| Non-Voting Shares | Buy | 18-Nov | | 28.93 | R\$ 925.76 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 115 | | R\$ 3,329.25 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.01 | R\$ 3,394.17 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,337.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,428.61 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | • | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 2,967.18 |
| Non-Voting Shares | Buy Buy | 18-Nov | 69 | | R\$ 2,007.90 |
| • | • | 18-Nov | | 29.10 | |
| Non-Voting Shares | Buy | | 116 | | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 2,680.88 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 29.15 | R\$ 29.15 |
| Non-Voting Shares | Buy | 18-Nov | 39 | 28.90 | R\$ 1,127.10 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.91 | R\$ 2,544.08 |
| Non-Voting Shares | Buy | 18-Nov | | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | | 28.93 | R\$ 1,764.73 |
| Non-Voting Shares | Buy | 18-Nov | /8 | 28.94 | R\$ 2,257.32 |

| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
|-------------------|------------|--------|-----|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 28 | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 29.01 | R\$ 3,336.15 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.02 | R\$ 3,453.38 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 69 | | R\$ 2,007.90 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,516.70 |
| Non-Voting Shares | Buy | 18-Nov | 166 | | R\$ 4,838.90 |
| Non-Voting Shares | Buy | 18-Nov | 43 | 29.16 | R\$ 1,253.88 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 58.34 |
| Non-Voting Shares | Buy | 18-Nov | | 28.88 | R\$ 375.44 |
| Non-Voting Shares | Buy | 18-Nov | | 28.89 | R\$ 2,311.20 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 59 | | R\$ 1,706.87 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 116 | | R\$ 3,365.16 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,366.32 |
| Non-Voting Shares | - | 18-Nov | | 29.02 | R\$ 5,428.61 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 2,555.52 |
| Non-Voting Shares | Buy Buy | 18-Nov | 100 | 29.04 | R\$ 2,905.00 |
| • | • | 18-Nov | 49 | 29.05 | |
| Non-Voting Shares | Buy | | | | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,389.05 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,516.70 |
| Non-Voting Shares | Buy | 18-Nov | 16/ | 29.15 | R\$ 4,868.05 |

| Non-Voting Shares | Buy | 18-Nov | 107 | 29.16 | R\$ 3,120.12 |
|-------------------|-----|--------|-----|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.17 | R\$ 2,421.11 |
| Non-Voting Shares | Buy | 18-Nov | 35 | 29.18 | R\$ 1,021.30 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 29.19 | R\$ 29.19 |
| Non-Voting Shares | Buy | 18-Nov | 32 | 28.93 | R\$ 925.76 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 28 | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.01 | R\$ 3,365.16 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.02 | R\$ 3,395.34 |
| Non-Voting Shares | Buy | 18-Nov | 187 | 29.03 | R\$ 5,428.61 |
| Non-Voting Shares | Buy | 18-Nov | 88 | | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,389.05 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 2,710.02 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.83 | R\$ 28.83 |
| Non-Voting Shares | Buy | 18-Nov | 40 | 28.90 | R\$ 1,156.00 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 812.00 |
| Non-Voting Shares | - | 18-Nov | | 29.00 | R\$ 3,452.19 |
| • | Buy | 18-Nov | | 29.01 | R\$ 3,308.28 |
| Non-Voting Shares | Buy | 18-Nov | | | |
| Non-Voting Shares | Buy | | | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 58 | 29.08 | R\$ 1,686.64 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.13 | R\$ 5,389.05 |

| Non-Voting Shares | Buy | 18-Nov | 156 | 29.14 | R\$ 4,545.84 |
|-------------------|------------|--------|-----|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | 165 | 29.15 | R\$ 4,809.75 |
| Non-Voting Shares | Buy | 18-Nov | 44 | 29.16 | R\$ 1,283.04 |
| Non-Voting Shares | Buy | 18-Nov | 2 | 29.17 | R\$ 58.34 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.89 | R\$ 28.89 |
| Non-Voting Shares | Buy | 18-Nov | 14 | 28.91 | R\$ 404.74 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.95 | R\$ 3,271.35 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.98 | R\$ 2,550.24 |
| Non-Voting Shares | Buy | 18-Nov | 112 | 28.99 | R\$ 3,246.88 |
| Non-Voting Shares | Buy | 18-Nov | 28 | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 116 | | R\$ 3,365.16 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.02 | R\$ 3,395.34 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.08 | R\$ 1,686.64 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,516.70 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 29.15 | R\$ 2,069.65 |
| Non-Voting Shares | Buy | 18-Nov | 4 | 29.16 | R\$ 116.64 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.89 | R\$ 28.89 |
| Non-Voting Shares | Buy | 18-Nov | | 28.91 | R\$ 375.83 |
| Non-Voting Shares | Buy | 18-Nov | | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.95 | R\$ 3,271.35 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | - | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | | 28.98 | R\$ 2,492.28 |
| Non-Voting Shares | Buy Buy | 18-Nov | 114 | 28.99 | R\$ 3,304.86 |
| Non-Voting Shares | • | 18-Nov | 27 | 29.00 | |
| J | Buy | | | | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,423.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,337.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,399.58 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.08 | R\$ 1,686.64 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |

| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
|-------------------|-----|------------------|----------|----------------|--------------|
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | 82 | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | 183 | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | 161 | 29.14 | R\$ 4,691.54 |
| Non-Voting Shares | Buy | 18-Nov | 66 | 29.15 | R\$ 1,923.90 |
| Non-Voting Shares | Buy | 18-Nov | 3 | 29.16 | R\$ 87.48 |
| Non-Voting Shares | Buy | 18-Nov | 53 | 28.89 | R\$ 1,531.17 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 59 | 28.93 | R\$ 1,706.87 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.98 | R\$ 2,550.24 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,366.32 |
| Non-Voting Shares | Buy | 18-Nov | 184 | 29.03 | R\$ 5,341.52 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 61 | 29.07 | R\$ 1,773.27 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.13 | R\$ 5,389.05 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,545.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,780.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,129.41 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 58.36 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.87 | R\$ 28.87 |
| Non-Voting Shares | Buy | 18-Nov | | 28.91 | R\$ 346.92 |
| Non-Voting Shares | Buy | 18-Nov | | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | | 28.93 | R\$ 1,793.66 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.94 | R\$ 2,228.38 |
| Non-Voting Shares | Buy | 18-Nov | | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | • | 18-Nov | | 28.96 | R\$ 2,085.12 |
| G | Buy | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 87 87 | 28.98 | |
| Non-Voting Shares | Buy | | | | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov 18-Nov | 113 | 28.99 29.00 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | | | | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,365.16 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,395.34 |
| Non-Voting Shares | Buy | 18-Nov | 186 | 29.03 | R\$ 5,399.58 |

| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
|-------------------|-----|---------|-----|-------|---------------|
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 69 | 29.10 | R\$ 2,007.90 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 184 | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | 157 | 29.14 | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 29.15 | R\$ 2,069.65 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 29.16 | R\$ 29.16 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.89 | R\$ 28.89 |
| Non-Voting Shares | Buy | 18-Nov | 14 | 28.91 | R\$ 404.74 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.95 | R\$ 3,271.35 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.98 | R\$ 2,550.24 |
| Non-Voting Shares | Buy | 18-Nov | 112 | 28.99 | R\$ 3,246.88 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 116 | | R\$ 3,365.16 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.02 | R\$ 3,395.34 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 58 | 29.08 | R\$ 1,686.64 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,516.70 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 29.15 | R\$ 2,069.65 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 116.64 |
| Non-Voting Shares | Buy | 30-Nov | | 29.82 | R\$ 298.20 |
| Non-Voting Shares | Buy | 18-Nov | | 28.89 | R\$ 1,502.28 |
| Non-Voting Shares | Buy | 18-Nov | 105 | | R\$ 3,034.50 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | | 28.93 | R\$ 1,706.87 |
| Non-Voting Shares | Buy | 18-Nov | 79 | | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | | 28.97 | R\$ 2,578.33 |
| Non-Voting Shares | Buy | 18-Nov | | 28.98 | R\$ 2,521.26 |
| Tion voing onales | Биу | 10-1107 | 07 | 20.30 | 1 (ψ 2,521.20 |

| Non-Voting Shares | Buy | 18-Nov | | 28.99 | R\$ 3,275.87 |
|-------------------|-----|--------|-----|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.02 | R\$ 3,366.32 |
| Non-Voting Shares | Buy | 18-Nov | 184 | 29.03 | R\$ 5,341.52 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 61 | 29.07 | R\$ 1,773.27 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | 82 | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.13 | R\$ 5,389.05 |
| Non-Voting Shares | Buy | 18-Nov | 156 | 29.14 | R\$ 4,545.84 |
| Non-Voting Shares | Buy | 18-Nov | 164 | 29.15 | R\$ 4,780.60 |
| Non-Voting Shares | Buy | 18-Nov | 108 | 29.16 | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | 73 | 29.17 | R\$ 2,129.41 |
| Non-Voting Shares | Buy | 18-Nov | 2 | 29.18 | R\$ 58.36 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.81 | R\$ 28.81 |
| Non-Voting Shares | Buy | 18-Nov | 52 | 28.89 | R\$ 1,502.28 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 59 | 28.93 | R\$ 1,706.87 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,308.28 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.08 | R\$ 1,686.64 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,389.05 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,722.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,178.44 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,012.73 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 175.08 |
| 5 | - , | | | | |

| Non-Voting Shares | Buy | 18-Nov | | 28.89 | R\$ 1,531.17 |
|-------------------|------------|--------|----------|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | 105 | 28.90 | R\$ 3,034.50 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 59 | 28.93 | R\$ 1,706.87 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 28 | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 29.02 | R\$ 3,308.28 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 58 | 29.08 | R\$ 1,686.64 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,389.05 |
| Non-Voting Shares | Buy | 18-Nov | 157 | | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,722.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,178.44 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,012.73 |
| Non-Voting Shares | Buy | 18-Nov | 6 | 29.18 | R\$ 175.08 |
| Non-Voting Shares | Buy | 18-Nov | 53 | 28.89 | R\$ 1,531.17 |
| Non-Voting Shares | Buy | 18-Nov | 105 | 28.90 | R\$ 3,034.50 |
| Non-Voting Shares | Buy | 18-Nov | | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | | 28.93 | R\$ 1,706.87 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 114 | | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | • | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 87 87 | 28.98 | R\$ 2,520.39 |
| Non-Voting Shares | Buy Buy | 18-Nov | | 28.99 | R\$ 3,275.87 |
| • | - | 18-Nov | | 29.00 | |
| Non-Voting Shares | Buy | | | | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,308.28 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.08 | R\$ 1,686.64 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |

| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
|-------------------|-----|--------|-----|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | 82 | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,389.05 |
| Non-Voting Shares | Buy | 18-Nov | 157 | 29.14 | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | 162 | 29.15 | R\$ 4,722.30 |
| Non-Voting Shares | Buy | 18-Nov | 109 | 29.16 | R\$ 3,178.44 |
| Non-Voting Shares | Buy | 18-Nov | 69 | 29.17 | R\$ 2,012.73 |
| Non-Voting Shares | Buy | 18-Nov | 6 | 29.18 | R\$ 175.08 |
| Non-Voting Shares | Buy | 18-Nov | 53 | 28.89 | R\$ 1,531.17 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 118 | 29.01 | R\$ 3,423.18 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 29.02 | R\$ 3,308.28 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.08 | R\$ 1,686.64 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,389.05 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,722.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,178.44 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,012.73 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 175.08 |
| Non-Voting Shares | Buy | 18-Nov | | 28.89 | R\$ 1,560.06 |
| Non-Voting Shares | Buy | 18-Nov | | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| • | • | 18-Nov | | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | | 28.93 | |
| Non-Voting Shares | Buy | | | | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.95 | R\$ 3,271.35 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | | 28.98 | R\$ 2,492.28 |
| Non-Voting Shares | Buy | 18-Nov | | 28.99 | R\$ 3,304.86 |
| Non-Voting Shares | Buy | 18-Nov | 28 | 29.00 | R\$ 812.00 |

| Non-Voting Shares | Buy | 18-Nov | 118 | 29.01 | R\$ 3,423.18 |
|-------------------------------------|-----|--------|-----|----------------|--------------|
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,279.26 |
| Non-Voting Shares | Buy | 18-Nov | 188 | 29.03 | R\$ 5,457.64 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 58 | 29.08 | R\$ 1,686.64 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 184 | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | 156 | 29.14 | R\$ 4,545.84 |
| Non-Voting Shares | Buy | 18-Nov | 165 | 29.15 | R\$ 4,809.75 |
| Non-Voting Shares | Buy | 18-Nov | 106 | 29.16 | R\$ 3,090.96 |
| Non-Voting Shares | Buy | 18-Nov | 74 | 29.17 | R\$ 2,158.58 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 87.54 |
| Non-Voting Shares | Buy | 18-Nov | | 28.89 | R\$ 1,502.28 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | | 28.91 | R\$ 2,544.08 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 59 | 28.93 | R\$ 1,706.87 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | 89 | 28.97 | R\$ 2,578.33 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,366.32 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,341.52 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | | 29.07 | R\$ 1,773.27 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 3,405.87 |
| Non-Voting Shares | • | 18-Nov | | 29.11 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | |
| • | Buy | 18-Nov | | | R\$ 5,389.05 |
| Non-Voting Shares Non-Voting Shares | Buy | 18-Nov | | 29.14 29.15 | R\$ 4,545.84 |
| _ | Buy | | | | R\$ 4,780.60 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,129.41 |
| Non-Voting Shares | Buy | 18-Nov | | 29.18 | R\$ 58.36 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.83 | R\$ 28.83 |
| Non-Voting Shares | Buy | 18-Nov | | 28.89 | R\$ 1,531.17 |
| Non-Voting Shares | Buy | 18-Nov | 103 | 28.90 | R\$ 2,976.70 |

| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
|-------------------|-----|--------|-----|----------------|------------------------------|
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 59 | 28.93 | R\$ 1,706.87 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 28 | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 119 | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 29.02 | R\$ 3,308.28 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 58 | 29.08 | R\$ 1,686.64 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.13 | R\$ 5,389.05 |
| Non-Voting Shares | Buy | 18-Nov | 157 | 29.14 | R\$ 4,574.98 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,722.30 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,178.44 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,012.73 |
| Non-Voting Shares | Buy | 18-Nov | 6 | 29.18 | R\$ 175.08 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.83 | R\$ 28.83 |
| Non-Voting Shares | Buy | 18-Nov | 12 | 28.91 | R\$ 346.92 |
| Non-Voting Shares | Buy | 18-Nov | 76 | | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | | 28.95 | R\$ 3,271.35 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | | 28.98 | R\$ 2,492.28 |
| Non-Voting Shares | Buy | 18-Nov | | 28.99 | R\$ 3,304.86 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,279.26 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,428.61 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | • | 18-Nov | | 29.07 | R\$ 1,744.20 |
| • | Buy | 18-Nov | | | |
| Non-Voting Shares | Buy | 18-Nov | | 29.08 29.09 | R\$ 1,686.64 R\$ 2,967.18 |
| Non-Voting Shares | Buy | | | | |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | 82 | 29.12 | R\$ 2,387.84 |

| Non-Voting Shares | Buy | 18-Nov | 183 | 29.13 | R\$ 5,330.79 |
|-------------------|-----|------------------|-----------|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | 161 | 29.14 | R\$ 4,691.54 |
| Non-Voting Shares | Buy | 18-Nov | 66 | 29.15 | R\$ 1,923.90 |
| Non-Voting Shares | Buy | 18-Nov | 3 | 29.16 | R\$ 87.48 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.83 | R\$ 28.83 |
| Non-Voting Shares | Buy | 18-Nov | 12 | 28.91 | R\$ 346.92 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | 79 | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.95 | R\$ 3,271.35 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 86 | 28.98 | R\$ 2,492.28 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.99 | R\$ 3,304.86 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | 118 | 29.01 | R\$ 3,423.18 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 29.02 | R\$ 3,337.30 |
| Non-Voting Shares | Buy | 18-Nov | 186 | 29.03 | R\$ 5,399.58 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 58 | 29.08 | R\$ 1,686.64 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | 161 | 29.14 | R\$ 4,691.54 |
| Non-Voting Shares | Buy | 18-Nov | 66 | 29.15 | R\$ 1,923.90 |
| Non-Voting Shares | Buy | 18-Nov | 3 | 29.16 | R\$ 87.48 |
| Non-Voting Shares | Buy | 18-Nov | | 28.89 | R\$ 1,502.28 |
| Non-Voting Shares | Buy | 18-Nov | | 28.90 | R\$ 3,034.50 |
| Non-Voting Shares | Buy | 18-Nov | | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 77 | 28.92 | R\$ 2,226.84 |
| Non-Voting Shares | Buy | 18-Nov | 59 | 28.93 | R\$ 1,706.87 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | | 28.98 | R\$ 2,550.24 |
| Non-Voting Shares | Buy | 18-Nov | | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 27 | 29.00 | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,366.32 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 5,341.52 |
| G | - | | | 29.03 | |
| Non-Voting Shares | Buy | 18-Nov 18-Nov | 88 100 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | | | | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 61 57 | 29.07 | R\$ 1,773.27 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |

| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
|-------------------|-------|--------|-----|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | 185 | 29.13 | R\$ 5,389.05 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,545.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,780.60 |
| Non-Voting Shares | Buy | 18-Nov | 108 | 29.16 | R\$ 3,149.28 |
| Non-Voting Shares | Buy | 18-Nov | 73 | 29.17 | R\$ 2,129.41 |
| Non-Voting Shares | Buy | 18-Nov | 2 | 29.18 | R\$ 58.36 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.82 | R\$ 28.82 |
| Non-Voting Shares | Buy | 18-Nov | 12 | 28.91 | R\$ 346.92 |
| Non-Voting Shares | Buy | 18-Nov | 75 | 28.92 | R\$ 2,169.00 |
| Non-Voting Shares | Buy | 18-Nov | 61 | 28.93 | R\$ 1,764.73 |
| Non-Voting Shares | Buy | 18-Nov | 78 | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 72 | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.97 | R\$ 2,520.39 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | 28 | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.01 | R\$ 3,394.17 |
| Non-Voting Shares | Buy | 18-Nov | 115 | 29.02 | R\$ 3,337.30 |
| Non-Voting Shares | Buy | 18-Nov | 187 | 29.03 | R\$ 5,428.61 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 69 | 29.10 | R\$ 2,007.90 |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.11 | R\$ 3,376.76 |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 |
| Non-Voting Shares | Buy | 18-Nov | 184 | 29.13 | R\$ 5,359.92 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,516.70 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 2,069.65 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 58.32 |
| Non-Voting Shares | Buy | 18-Nov | 1 | 28.90 | R\$ 28.90 |
| Non-Voting Shares | Buy | 18-Nov | 13 | 28.91 | R\$ 375.83 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,286.26 |
| Non-Voting Shares | Buy | 18-Nov | | 28.95 | R\$ 3,271.35 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | | 28.98 | R\$ 2,463.30 |
| Non-Voting Shares | Buy | 18-Nov | | 28.99 | R\$ 3,304.86 |
| Non-Voting Shares | Buy | 18-Nov | | | R\$ 783.00 |
| Non-Voting Shares | Buy | 18-Nov | | 29.01 | R\$ 3,452.19 |
| Non-Voting Shares | Buy | 18-Nov | | 29.02 | R\$ 3,279.26 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,428.61 |
| | = 0.7 | | | | |

| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 |
|-------------------|-----|--------|----------|-------|--------------|
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | 58 | 29.08 | R\$ 1,686.64 |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | 68 | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | 82 | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | 183 | 29.13 | R\$ 5,330.79 |
| Non-Voting Shares | Buy | 18-Nov | 161 | 29.14 | R\$ 4,691.54 |
| Non-Voting Shares | Buy | 18-Nov | 66 | 29.15 | R\$ 1,923.90 |
| Non-Voting Shares | Buy | 18-Nov | 3 | 29.16 | R\$ 87.48 |
| Non-Voting Shares | Buy | 18-Nov | 53 | 28.89 | R\$ 1,531.17 |
| Non-Voting Shares | Buy | 18-Nov | 104 | 28.90 | R\$ 3,005.60 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.91 | R\$ 2,515.17 |
| Non-Voting Shares | Buy | 18-Nov | 76 | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 28.93 | R\$ 1,735.80 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,315.20 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 28.95 | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | 71 | 28.96 | R\$ 2,056.16 |
| Non-Voting Shares | Buy | 18-Nov | 88 | 28.97 | R\$ 2,549.36 |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.00 | R\$ 812.00 |
| Non-Voting Shares | Buy | 18-Nov | 118 | | R\$ 3,423.18 |
| Non-Voting Shares | Buy | 18-Nov | 114 | 29.02 | R\$ 3,308.28 |
| Non-Voting Shares | Buy | 18-Nov | | 29.03 | R\$ 5,370.55 |
| Non-Voting Shares | Buy | 18-Nov | | 29.04 | R\$ 2,555.52 |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 |
| Non-Voting Shares | Buy | 18-Nov | | 29.08 | R\$ 1,686.64 |
| Non-Voting Shares | Buy | 18-Nov | | 29.09 | R\$ 2,967.18 |
| Non-Voting Shares | Buy | 18-Nov | | 29.10 | R\$ 1,978.80 |
| Non-Voting Shares | Buy | 18-Nov | 117 | 29.11 | R\$ 3,405.87 |
| Non-Voting Shares | Buy | 18-Nov | | 29.12 | R\$ 2,387.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.13 | R\$ 5,389.05 |
| Non-Voting Shares | Buy | 18-Nov | | 29.14 | R\$ 4,545.84 |
| Non-Voting Shares | Buy | 18-Nov | | 29.15 | R\$ 4,809.75 |
| Non-Voting Shares | Buy | 18-Nov | | 29.16 | R\$ 3,120.12 |
| Non-Voting Shares | Buy | 18-Nov | | 29.17 | R\$ 2,012.73 |
| • | • | 18-Nov | 6 | 29.17 | R\$ 175.08 |
| Non-Voting Shares | Buy | 18-Nov | | 28.86 | |
| Non-Voting Shares | Buy | | 1 | | R\$ 28.86 |
| Non-Voting Shares | Buy | 18-Nov | 12 76 | 28.91 | R\$ 346.92 |
| Non-Voting Shares | Buy | 18-Nov | | 28.92 | R\$ 2,197.92 |
| Non-Voting Shares | Buy | 18-Nov | 61 | 28.93 | R\$ 1,764.73 |
| Non-Voting Shares | Buy | 18-Nov | | 28.94 | R\$ 2,257.32 |
| Non-Voting Shares | Buy | 18-Nov | 114 | | R\$ 3,300.30 |
| Non-Voting Shares | Buy | 18-Nov | | 28.96 | R\$ 2,085.12 |
| Non-Voting Shares | Buy | 18-Nov | 8/ | 28.97 | R\$ 2,520.39 |

Edgar Filing: BANK BRADESCO - Form 6-K

| Closing Balance | | | | | | | |
|-------------------|-------|--------|---------|-------|-------------------|--|--|
| Non-Voting Shares | Total | | 5,370 | | R\$ 156,842.40 | | |
| Non-Voting Shares | Sell | 14-Nov | 60 | 29.22 | R\$ 1,753.20 | | |
| Non-Voting Shares | Sell | 14-Nov | 620 | 29.20 | R\$ 18,104.00 | | |
| Non-Voting Shares | Sell | 11-Nov | 100 | 28.56 | R\$ 2,856.00 | | |
| Non-Voting Shares | Sell | 11-Nov | 500 | 28.55 | R\$ 14,275.00 | | |
| Non-Voting Shares | Sell | 11-Nov | 20 | 28.61 | R\$ 572.20 | | |
| Non-Voting Shares | Sell | 11-Nov | 70 | 28.60 | R\$ 2,002.00 | | |
| Non-Voting Shares | Sell | 21-Nov | 4,000 | 29.32 | R\$ 117,280.00 | | |
| Non-Voting Shares | Toťal | | 370,735 | | R\$ 10,766,653.39 | | |
| Non-Voting Shares | Buy | 18-Nov | 1 | 29.16 | R\$ 29.16 | | |
| Non-Voting Shares | Buy | 18-Nov | 71 | 29.15 | R\$ 2,069.65 | | |
| Non-Voting Shares | Buy | 18-Nov | 157 | 29.14 | R\$ 4,574.98 | | |
| Non-Voting Shares | Buy | 18-Nov | 184 | 29.13 | R\$ 5,359.92 | | |
| Non-Voting Shares | Buy | 18-Nov | 83 | 29.12 | R\$ 2,416.96 | | |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.11 | R\$ 3,376.76 | | |
| Non-Voting Shares | Buy | 18-Nov | 69 | 29.10 | R\$ 2,007.90 | | |
| Non-Voting Shares | Buy | 18-Nov | 102 | 29.09 | R\$ 2,967.18 | | |
| Non-Voting Shares | Buy | 18-Nov | 57 | 29.08 | R\$ 1,657.56 | | |
| Non-Voting Shares | Buy | 18-Nov | 60 | 29.07 | R\$ 1,744.20 | | |
| Non-Voting Shares | Buy | 18-Nov | 49 | 29.06 | R\$ 1,423.94 | | |
| Non-Voting Shares | Buy | 18-Nov | 100 | 29.05 | R\$ 2,905.00 | | |
| Non-Voting Shares | Buy | 18-Nov | 88 | 29.04 | R\$ 2,555.52 | | |
| Non-Voting Shares | Buy | 18-Nov | 186 | 29.03 | R\$ 5,399.58 | | |
| Non-Voting Shares | Buy | 18-Nov | 117 | | R\$ 3,395.34 | | |
| Non-Voting Shares | Buy | 18-Nov | 116 | 29.01 | R\$ 3,365.16 | | |
| Non-Voting Shares | Buy | 18-Nov | 28 | 29.00 | R\$ 812.00 | | |
| Non-Voting Shares | Buy | 18-Nov | 113 | 28.99 | R\$ 3,275.87 | | |
| Non-Voting Shares | Buy | 18-Nov | 87 | 28.98 | R\$ 2,521.26 | | |
| | | | | | | | |

% of participation

| Type of Securities/Derivatives | Quantity | Same type of Shares Total |
|--------------------------------|-----------|---------------------------|
| Common Shares | 87,415 | 0.0031 0.0015 |
| Non-Voting Shares | 3.373.827 | 0.1215 0.0607 |

Note:

New member who belong to the Board of Executive Officers:

Fernando Freiberger
Juliano Ribeiro Marcílio
Albert Adell Roso
Carlos Leibowicz
Gilvandro Matos Silva
Ademir Aparecido Correa Junior
Alberto do Nascimento Lemos
João Pedro da Silva Villela
Luiz Benoni Passini
Nelson Veiga Neto
Paulo Roberto Andrade de Aguiar

Note:

Members who left the Board of Executive Officers:

Alex Silva Braga Luis Carlos Furquim Vermieiro Marcos Daré Octavio Manoel Rodrigues de Barros

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

| Company: Banco Brad | desco S.A. | | | | | () T I I I I |
|--------------------------------|-------------------------------|----------------|------------------|------------------------|------------------|------------------------------------|
| Group and Family Dependants | ()Board of Directors | () Board of E | | (X) Audit Committee | | () Technical and Advisory Agencies |
| | | Openning I | Balance | | | |
| | | | | | | % of participation |
| Туре | of Securities/De | erivatives | | Quantity | | Same type of Shares Total |
| | Common Shar Non-Voting Sha | res | | | 33,514 81,180 | |
| | | Month Mov | vement | | | |
| Type of Securities/Derivatives | Broker | Operation | Day | Quantity | Price | Value in R\$ |
| Common Shares Common Shares | | Sell Sell | 28-Nov 28-Nov | 13 4,100 | 28.62 28.60 | ' |
| Common Shares | | Sell | 28-Nov | 200 | 28.61 | R\$ 5,722.00 |
| Common Shares | | Sell | 28-Nov | 100 | 28.63 | R\$ 2,863.00 |
| Common Shares | | Sell | 28-Nov | 300 | 28.64 | R\$ 8,592.00 |
| Common Shares | Bradesco S.A. | Sell | 28-Nov | 200 | 28.65 | R\$ 5,730.00 |
| Common Shares | C.T.V.M. | Sell | 28-Nov | 200 | 28.66 | • • |
| Common Shares | O. 1 . V .IVI. | Sell | 28-Nov | 500 | 28.70 | ' ' |
| Common Shares | | Sell | 28-Nov | 100 | 28.71 | R\$ 2,871.00 |
| Common Shares | | Total | | 5,713 | | R\$ 163,492.06 |
| Non-Voting Shares | | Sell | 28-Nov | 34 | 29.45 | ' ' |
| Non-Voting Shares | | Sell | 28-Nov | 500 | 29.51 | R\$ 14,755.00 |
| Non-Voting Shares | | Total | | 534 | | R\$ 15,756.30 |
| | | Closing B | alance | | | O/ of portionation |
| | | | | | | % of participation |
| Туре | of Securities/De | erivatives | | Quanti | ty | Same type of Shares |
| | Common Share | es | | | 2,398 | 0.0000 0.0000 |
| Non-Voting Shares | | | 1 | 90,906 | | |

| N | Δ t Δ | |
|----|---------------------|--|
| IV | OLE | |

Members who left the Audit Committee:

Oswaldo de Moura Silveira

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

| Company: Banco Bradesco S.A. | | | | | |
|------------------------------|-------------------------|--------------------------------------|-----------------------|---------------------------|---------|
| Group and Family Dependants | ()Board of Directors | () Board of Executive Officers | () Audit Committee | (x) Technic Advisory A | |
| | Openning E | Balance | | | |
| | | | | % of partic | ipation |
| Type of Securities/D | erivatives | | Quantity | Same type of Shares | Total |
| Common Sha | res | | 1,694 | 0.0000 | 0.0000 |
| Non-Voting Sh | ares | | 4,373 | 0.0001 | 0.0000 |
| | Closing Ba | alance | | | |
| | | | | % of partic | ipation |
| Type of Securities/D | erivatives | | Quantity | Same type of Shares | Total |
| Common Sha | res | | 1,694 | 0.0000 | 0.0000 |
| Non-Voting Sha | ares | | 4,373 | 0.0001 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Bradesco

Name: S.A. CPF/CNPJ: 60.746.948/0001-12

Qualification: Treasury

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total Common Shares 0.1647 0.0823 4,575,045 Non-Voting Shares 17,141,588 0.6173 0.3086 **Closing Balance** % of participation Type of Securities/Derivatives Quantity Total Same type of Shares

 Common Shares
 4,575,045
 0.1647
 0.0823

 Non-Voting Shares
 17,141,588
 0.6173
 0.3086

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

2bCapital

Name: Participações Ltda CPF/CNPJ: 11.814.208/0001-60

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | Total |
|--------------------------------|----------|---------------------|--------|
| Common Shares | 0 | 0.00 | 0.0000 |
| Non-Voting Shares | 0 | 0.00 | 0.0000 |
| • | | Closing Balance | |
| | | % of participation | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | Total |
| Common Shares | 0 | 0.00 | 0.0000 |
| Non-Voting Shares | 0 | 0.00 | 0.0000 |
| rton toning onaros | O | 0.00 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: 2bCapital S.A CPF/CNPJ: 07.063.675/0001-29

Qualification: Controlled / Related Company

Openning Balance

| | | , or particularity | | |
|--------------------------------|----------|---------------------|--------|--------|
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |
| - | | Closing Balance | | |
| | | % of participation | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |
| | | | | |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

ADC Bradesco - Associação

Name: Desportiva Classista CPF/CNPJ: 51.244.101/0001-49

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|--------------------------------|-----------|---------------------|--------|--------|
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |
| - | Closing E | salance | | |
| | _ | % of participa | tion | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Ágora Corretora de Títulos e

Name: Valores Mobiliários S.A CPF/CNPJ: 74.014.747/0001-35

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total | | | |
|--------------------------------|-----------------|---------------------|--------|--------|--|--|--|
| Common Shares | 0 | | 0.0000 | 0.0000 | | | |
| Non-Voting Shares | 0 | _ | 0.0000 | 0.0000 | | | |
| | Closing Balance | | | | | | |
| | | % of participa | tion | | | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total | | | |
| Common Shares | 0 | | 0.0000 | 0.0000 | | | |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 | | | |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Ágora Educacional

Name: Ltda CPF/CNPJ: 09.544.124/0001-02

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives C | Quantity | Same type of Shares | | Total |
|------------------------------------|----------|---------------------|------------------|------------------|
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | Closing Balance | 0.0000 | 0.0000 |
| % of participation | | | | |
| Type of Securities/Derivatives C | Quantity | Same type of Shares | | Total |
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 0.0000 | 0.0000 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Aicaré Holdings

Name: Ltda CPF/CNPJ: 09.235.141/0001-68

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/DerivativesQuant | tity | Same type of Shares | | Total |
|-------------------------------------|------|---------------------|--------|--------|
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |
| C | | Closing Balance | | |
| | | % of participation | n | |
| Type of Securities/DerivativesQuant | tity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Alvorada Administradora de

Name: Cartões Ltda CPF/CNPJ: 01.382.421/0001-97

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|--------------------------------|----------|---------------------|--------|--------|
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |
| • | Closing | g Balance | | |
| | | % of participa | tion | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Alvorada Companhia Securitizadora

Name: de Créditos Financeiros CPF/CNPJ: 03.572.412/0001-94

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | Total | |
|--------------------------------|--------------|---------------------|--------|--|
| Common Shares | 0 | 0.000 | | |
| Non-Voting Shares | 0 | 0.000 | 0.0000 | |
| | Closing Bala | ance | | |
| | J | % of participation | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | Total | |
| Common Shares | 0 | 0.000 | 0.0000 | |
| Non-Voting Shares | 0 | 0.000 | 0.0000 | |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Alvorada Serviços e

Name: Negócios Ltda CPF/CNPJ: 50.991.421/0001-08

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|--------------------------------|----------|---------------------|--------|--------|
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |
| | Clo | sing Balance | | |
| | | % of participat | ion | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Amapari Holdings

Name: S.A CPF/CNPJ: 15.012.678/0001-61

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives Quantity | Same type of Shares | | Total |
|---|---------------------|--------|--------|
| Common Shares 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares 0 | | 0.0000 | 0.0000 |
| • | Closing Balance | | |
| | % of participa | tion | |
| Type of Securities/Derivatives Quantity | Same type of Shares | | Total |
| Common Shares 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Andorra Holdings

Name: S.A CPF/CNPJ: 08.503.501/0001-00

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/DerivativesQuantity | Same type of Shares | | Total |
|---|---------------------|--------|--------|
| Common Shares 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares 0 | | 0.0000 | 0.0000 |
| • | Closing Balance | | |
| | % of participation | n | |
| Type of Securities/Derivatives Quantity | Same type of Shares | | Total |
| Common Shares 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares 0 | | 0.0000 | 0.0000 |
| | | | |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Aporé Holdings

Name: S.A CPF/CNPJ: 15.011.651/0001-54

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/DerivativesQua | ntity | Same type of Shares | | Total |
|------------------------------------|--------|---------------------|------------------|------------------|
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 0.0000 | 0.0000 0.0000 |
| | | Closing Balance | | |
| | | % of participation | n | |
| Type of Securities/DerivativesQua | ntity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Aquarius Holdings

Name: Ltda CPF/CNPJ: 04.866.440/0001-87

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives Quan | tity | Same type of Shares | | Total |
|--|------|---------------------|--------|--------|
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |
| , and the second | | Closing Balance | | |
| | | % of participation | | |
| Type of Securities/Derivatives Quan | tity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Aranaú Holdings

Name: S.A CPF/CNPJ: 15.011.846/0001-02

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/DerivativesQua | antity | Same type of Shares | | Total |
|-----------------------------------|--------|---------------------|--------|--------|
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |
| - | | Closing Balance | | |
| | | % of participatio | n | |
| Type of Securities/DerivativesQua | antity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

ARFAB - Associação Recreativa dos

Name: Funcionários da Atlântica-Bradesco CPF/CNPJ: 42.413.153/0001-00

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | Total |
|------------------------------------|----------------------------------|---------------------|------------------|
| Common Shares Non-Voting Shares | 0 0 Closing Balance | 0.0000 0.0000 | 0.0000 0.0000 |
| | 3 | % of participation | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | Total |
| Common Shares | 0 | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Atlântica Companhia de

Name: Seguros CPF/CNPJ: 33.151.291/0001-78

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | Total |
|--------------------------------|----------|---------------------|--------|
| Common Shares | 0 | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | 0.0000 | 0.0000 |
| - | (| Closing Balance | |
| | | % of participation | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | Total |
| Common Shares | 0 | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Baíra Holdings

Name: Ltda CPF/CNPJ: 10.429.085/0001-81

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/DerivativesQuantity | Same type of Shares | | Total |
|--|---------------------|--------|--------|
| Common Shares 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares 0 | | 0.0000 | 0.0000 |
| Ŭ | Closing Balance | | |
| | % of participat | ion | |
| Type of Securities/DerivativesQuantity | Same type of Shares | | Total |
| Common Shares 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Alvorada

Name: S.A CPF/CNPJ: 33.870.163/0001-84

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/DerivativesQu | uantity | Same type of Shares | | Total |
|----------------------------------|---------|---------------------|--------|--------|
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |
| • | | Closing Balance | | |
| | | % of participati | on | |
| Type of Securities/DerivativesQu | uantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Boavista

Name: Interatlântico S.A CPF/CNPJ: 33.485.541/0001-06

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | Total |
|------------------------------------|----------------|---------------------|----------|
| Common Shares Non-Voting Shares | 8,694 8,343 | 0.000 0.000 | |
| - | (| Closing Balance | |
| | | % of participation | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | Total |
| Common Shares | 8,694 | 0.000 | 3 0.0001 |
| Non-Voting Shares | 8,343 | 0.000 | 3 0.0001 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Bradescard

Name: S.A CPF/CNPJ: 04.184.779/0001-01

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives Quantity | Same type of Shares | | Total |
|---|---------------------|--------|--------|
| Common Shares 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares 0 | | 0.0000 | 0.0000 |
| • | Closing Balance | | |
| | % of participation | on | |
| Type of Securities/Derivatives Quantity | Same type of Shares | | Total |
| Common Shares 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Bradesco BBI

Name: S.A CPF/CNPJ: 06.271.464/0001-19

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives Qua | ntity | Same type of Shares | | Total |
|------------------------------------|--------|---------------------|------------------|------------------|
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 0.0000 | 0.0000 0.0000 |
| | | Closing Balance | | |
| | | % of participation | n | |
| Type of Securities/Derivatives Qua | ntity | Same type of Shares | | Total |
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 0.0000 | 0.0000 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Bradesco

Name: BERJ S.A CPF/CNPJ: 33.147.315/0001-15

Qualification: Controlled / Related Company

Openning Balance

% of participation

Type of Securities/Derivatives Quantity Same type of Shares Total **Common Shares** 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000 **Closing Balance** % of participation Type of Securities/Derivatives Quantity Total Same type of Shares **Common Shares** 0 0.0000 0.0000 Non-Voting Shares 0 0.0000 0.0000

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Bradesco

Name: Cartões S.A CPF/CNPJ: 59.438.325/0001-01

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|------------------------------------|----------|---------------------------------|------------------|------------------|
| Common Shares Non-Voting Shares | 0 | | 0.0000 0.0000 | 0.0000 0.0000 |
| Wolf Voting Ghares | O | Closing Balance % of participat | | 0.0000 |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares Non-Voting Shares | 0 | | 0.0000 0.0000 | 0.0000 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco Bradesco

Name: Financiamentos S.A CPF/CNPJ: 07.207.996/0001-50

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|---------------------------------|----------|---------------------|------------------|------------------|
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 0.0000 | 0.0000 0.0000 |
| Tron voting chares | | g Balance | | 0.0000 |
| | | % of participa | tion | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Banco CBSS

Name: S.A CPF/CNPJ: 27.098.060/0001-45

Qualification: Controlled / Related Company

Openning Balance

| Type of | | · | | |
|-----------------------------------|----------|---------------------|--------|--------|
| Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |
| • | | Closing Balance | | |
| | | % of participatio | n | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |
| | | | | |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Baneb Corretora de

Name: Seguros S.A CPF/CNPJ: 14.560.304/0001-18

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|--------------------------------|----------|---------------------|--------|--------|
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |
| | Clo | sing Balance | | |
| | | % of participa | tion | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bankpar Brasil

Name: Ltda CPF/CNPJ: 34.046.581/0001-14

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/DerivativesQu | uantity | Same type of Shares | | Total |
|----------------------------------|---------|---------------------|--------|--------|
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |
| · · | | Closing Balance | | |
| | | % of participation | on | |
| Type of Securities/DerivativesQu | uantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bankpar Consultoria e

Name: Serviços Ltda CPF/CNPJ: 67.529.289/0001-01

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total | | |
|--------------------------------|--------------------|---------------------|--------|--------|--|--|
| Common Shares | 0 | | 0.0000 | 0.0000 | | |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 | | |
| - | Closir | ng Balance | | | | |
| | % of participation | | | | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total | | |
| Common Shares | 0 | | 0.0000 | 0.0000 | | |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 | | |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Barinas Holdings

Name: S.A CPF/CNPJ: 15.011.336/0001-27

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/DerivativesQua | antity | Same type of Shares | | Total |
|-----------------------------------|--------|---------------------|--------|--------|
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |
| Ğ | | Closing Balance | | |
| | | % of participation | on | |
| Type of Securities/DerivativesQua | antity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BCN - Consultoria, Administração de

Name: Bens, Serviços e Publicidade Ltda CPF/CNPJ: 52.842.408/0001-04

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | Total |
|------------------------------------|----------------------------------|---------------------|------------------|
| Common Shares Non-Voting Shares | 0 0 Closing Balance | 0.0000 0.0000 | 0.0000 0.0000 |
| | 3 | % of participation | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | Total |
| Common Shares | 0 | 0.0000 0.0000 | 0.0000 |
| Non-Voting Shares | U | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BEC - Distribuidora de Títulos e

Name: Valores Mobiliários Ltda CPF/CNPJ: 07.299.480/0001-82

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|------------------------------------|------------------------------|---------------------|------------------|------------------|
| Common Shares Non-Voting Shares | 0 0 Closing Bal | (| 0.0000 0.0000 | 0.0000 0.0000 |
| | | % of participati | ion | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 0.0000 | 0.0000 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BEM - Distribuidora de Títulos e

Name: Valores Mobiliários Ltda CPF/CNPJ: 00.066.670/0001-00

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|------------------------------------|------------------------------|---------------------|------------------|------------------|
| Common Shares Non-Voting Shares | 0 0 Closing Bal | | 0.0000 0.0000 | 0.0000 0.0000 |
| | · · | % of participat | tion | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BF Promotora de

Name: Vendas Ltda CPF/CNPJ: 02.038.394/0001-00

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | Total | | |
|------------------------------------|----------|---------------------|---------------------------|--|--|
| Common Shares Non-Voting Shares | 0 0 | | 000 0.0000 000 0.0000 | | |
| Closing Balance % of participation | | | | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | Total | | |
| Common Shares Non-Voting Shares | 0 0 | | 0.000 0.0000 0.0000 | | |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BMC Asset Management - Distribuidora

Name: de Títulos e Valores Mobiliários Ltda CPF/CNPJ: 04.163.016/0001-76

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | Total |
|------------------------------------|----------------------------------|---------------------|------------------|
| Common Shares Non-Voting Shares | 0 0 Closing Balance | 0.0000 0.0000 | 0.0000 0.0000 |
| | · · | % of participation | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | Total |
| Common Shares | 0 | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BMC Previdência

Name: Privada S.A CPF/CNPJ: 07.622.099/0001-02

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|------------------------------------|----------|----------------------------------|--------|------------------|
| Common Shares Non-Voting Shares | 0 | | 0.0000 | 0.0000 0.0000 |
| Non-voling Shares | U | Closing Balance % of participati | | 0.0000 |
| | | 76 OI Participati | OII | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BP Promotora de

Name: Vendas Ltda CPF/CNPJ: 07.131.760/0001-87

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total | |
|------------------------------------|----------|---------------------|------------------|------------------|--|
| Common Shares Non-Voting Shares | 0 | | 0.0000 | 0.0000 0.0000 | |
| Closing Balance % of participation | | | | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total | |
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 0.0000 | 0.0000 0.0000 | |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bpar Corretagem de

Name: Seguros Ltda CPF/CNPJ: 43.133.503/0001-48

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | Total | | |
|--------------------------------|--------------------|---------------------|--------|--|--|
| Common Shares | 0 | 0.000 | 0.0000 | | |
| Non-Voting Shares | 0 | 0.000 | 0.0000 | | |
| | CI | osing Balance | | | |
| | % of participation | | | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | Total | | |
| Common Shares | 0 | 0.000 | 0.0000 | | |
| Non-Voting Shares | 0 | 0.000 | 0.0000 | | |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BPS Participações e

Name: Serviços Ltda CPF/CNPJ: 02.858.535/0001-23

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|--------------------------------|----------|---------------------|--------|--------|
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |
| • | Closi | ng Balance | | |
| | | % of participa | tion | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradescard Elo

Name: Participações S.A CPF/CNPJ: 09.226.818/0001-00

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total | |
|--------------------------------|----------|---------------------|--------|--------|--|
| Common Shares | 0 | C | 0.0000 | 0.0000 | |
| Non-Voting Shares | 0 | (| 0.0000 | 0.0000 | |
| _ | С | losing Balance | | | |
| | | % of participation | | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total | |
| Common Shares | 0 | C | 0.0000 | 0.0000 | |
| Non-Voting Shares | 0 | C | 0.0000 | 0.0000 | |
| | | | | | |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco Administradora de

Name: Consórcios Ltda CPF/CNPJ: 52.568.821/0001-22

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|--------------------------------|----------|---------------------|--------|--------|
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |
| | Closing | Balance | | |
| | | % of participa | ition | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco Auto/RE

Name: Companhia de Seguros CPF/CNPJ: 92.682.038/0001-00

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total | | | |
|------------------------------------|------------------------------------|---------------------|------------------|------------------|--|--|--|
| Common Shares Non-Voting Shares | 0 0 Closing | ı Ralance | 0.0000 0.0000 | 0.0000 0.0000 | | | |
| | Closing Balance % of participation | | | | | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total | | | |
| Common Shares | 0 | | 0.0000 | 0.0000 | | | |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 | | | |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco

Name: Capitalização S.A CPF/CNPJ: 33.010.851/0001-74

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|------------------------------------|----------|---------------------|------------------|------------------|
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 0.0000 | 0.0000 0.0000 |
| Non-voling onales | O | Closing Balance | | 0.0000 |
| | | % of participati | on | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 0.0000 | 0.0000 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco Leasing S.A. -

Name: Arrendamento Mercantil CPF/CNPJ: 47.509.120/0001-82

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|--------------------------------|-----------|---------------------|--------|--------|
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |
| - | Closing E | Balance | | |
| | _ | % of participation | tion | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Name: Bradesco S.A. Corretora de Títulos e Valores Mobiliários CPF/CNPJ: 61.855.045/0001-32

Qualification: Controlled / Related Company

Openning Balance

| | | | | | | 70 of participation |
|----------------------------------|--------------------------------|-----------|----------|----------|----------------|---------------------------|
| | Type of Securities/Derivatives | | | Quant | ity | Same type of Shares Total |
| | Common Sha Non-Voting Sha | ares | th Movei | ment | 1,513 9,076 | |
| Type of Securities/Derivative | Broker es | Operation | Day | Quantity | Price | Value in R\$ |
| Common Shares Common | | Buy | 4-Nov | 273 | 30.14 | R\$ 8,228.22 |
| Shares | | Buy | 7-Nov | 2,060 | 31.14 | R\$ 64,148.40 |
| Common Shares | | Buy | 10-Nov | 67 | 28.79 | R\$ 1,928.93 |
| Common Shares | | Buy | 21-Nov | 50 | 28.47 | R\$ 1,423.50 |
| Common Shares | | Buy | 22-Nov | 1,623 | 29.00 | R\$ 47,067.00 |
| Common Shares | | Buy | 25-Nov | 769 | 28.94 | R\$ 22,254.86 |
| Common Shares | | Buy | 29-Nov | 350 | 28.60 | R\$ 10,010.00 |
| Common Shares | | Buy | 30-Nov | 27 | 29.14 | R\$ 786.78 |
| Common Shares | | Total | | 5,219 | | R\$ 155,847.69 |
| Non-Voting Shares | | Buy | 1-Nov | 271 | 32.46 | R\$ 8,796.66 |
| Non-Voting Shares | | Buy | 3-Nov | 654 | 31.67 | R\$ 20,712.18 |
| | | | | | | |

| Non-Voting Shares | Buy | 4-Nov | 1,722 | 31.67 | R\$ 54,535.74 |
|----------------------|-------|---------------|--------|-------|-----------------|
| Non-Voting | Day | + 1 10 | 4.050 | 00.77 | Πψ 0+,000.7+ |
| Shares | Buy | 7-Nov | 4,856 | 32.77 | R\$ 159,131.12 |
| Non-Voting | D | dd Niss | 413 | 29.06 | D# 40 004 70 |
| Shares Non-Voting | Buy | 11-Nov | | | R\$ 12,001.78 |
| Shares | Buy | 14-Nov | 488 | 29.27 | R\$ 14,283.76 |
| Non-Voting | , | | 751 | 00.70 | φ,=σσ., σ |
| Shares | Buy | 17-Nov | /51 | 28.78 | R\$ 21,613.78 |
| Non-Voting | 5 | 04.14 | 63 | 29.45 | D# 4 055 05 |
| Shares Non-Voting | Buy | 21-Nov | | | R\$ 1,855.35 |
| Shares | Buy | 22-Nov | 4,508 | 29.65 | R\$ 133,662.20 |
| Non-Voting | Day | 22 NOV | 4 04 5 | 00.50 | Τιφ 100,002.20 |
| Shares | Buy | 24-Nov | 1,015 | 29.50 | R\$ 29,942.50 |
| Non-Voting | | | 4 513 | 29.64 | |
| Shares | Buy | 25-Nov | 4,510 | 20.04 | R\$ 133,765.32 |
| Non-Voting | Dung | 29-Nov | 210 | 29.06 | D¢ 6 100 60 |
| Shares Non-Voting | Buy | 29-INOV | | | R\$ 6,102.60 |
| Shares | Buy | 30-Nov | 399 | 29.75 | R\$ 11,870.25 |
| Non-Voting | - , | | 10 062 | | , ,,, ,, |
| Shares | Total | | 19,863 | | R\$ 608,273.24 |
| Common | 0 " | | 202 | 30.95 | 54.054.00 |
| Shares | Sell | 1-Nov | | | R\$ 6,251.90 |
| Common Shares | Sell | 3-Nov | 31 | 30.30 | R\$ 939.30 |
| Common | OCII | O INOV | | | Τιφ 333.30 |
| Shares | Sell | 8-Nov | 900 | 31.37 | R\$ 28,233.00 |
| Common | | | 90 | 30.71 | , , |
| Shares | Sell | 9-Nov | 00 | 30.71 | R\$ 2,456.80 |
| Common | 0 " | 44.81 | 464 | 27.78 | D# 40 000 00 |
| Shares | Sell | 14-Nov | | | R\$ 12,889.92 |
| Common Shares | Sell | 16-Nov | 330 | 28.35 | R\$ 9,355.50 |
| Common | OCII | 10 1404 | | | πφ 0,000.00 |
| Shares | Sell | 17-Nov | 103 | 27.87 | R\$ 2,870.61 |
| Common | | | 750 | 28.31 | |
| Shares | Sell | 18-Nov | 730 | 20.01 | R\$ 21,232.50 |
| Common | Call | OO Nov | 900 | 29.19 | D¢ 26 271 00 |
| Shares Common | Sell | 23-Nov | | 29.19 | R\$ 26,271.00 |
| Shares | Sell | 24-Nov | 273 | 28.86 | R\$ 7,878.78 |
| Common | | | 750 | 00.01 | |
| Shares | Sell | 28-Nov | 750 | 29.21 | R\$ 21,907.50 |
| Common | | | 4,783 | | |
| Shares | Total | | .,. 00 | | R\$ 140,286.81 |
| Non-Voting Shares | Sell | 8-Nov | 5,744 | 32.75 | R\$ 188,116.00 |
| Gilales | Sell | 9-Nov | 1 160 | 31.85 | R\$ 36,946.00 |
| | 30 | 5 . 10 v | ., | 555 | ι ιφ σσ,σ τσ.σσ |

Edgar Filing: BANK BRADESCO - Form 6-K

| Non-Voting Shares | | | | | | | |
|---|---------------------------------|-----------|------------|--------|-----------------|---------------------|-----------|
| Non-Voting Shares | | Sell | 10-Nov | 308 | 29.01 | R\$ | 8,935.08 |
| Non-Voting Shares | Sell | 16-Nov | 927 | 29.71 | R\$ 2 | 27,541.17 | |
| Non-Voting Shares | | Sell | 18-Nov | 3,156 | 29.28 | R\$ 9 | 92,407.68 |
| Non-Voting Shares Non-Voting Shares Non-Voting Shares | Sell | 23-Nov | 3,170 | 29.78 | R\$ 9 | 94,402.60 | |
| | | Sell | 28-Nov | 4,340 | 30.01 | R\$ 13 | 30,243.40 |
| | | Total | | 18,805 | | R\$ 57 | 78,591.93 |
| | | Clos | sing Balan | ce | | | |
| | | | | | | % of participation | on |
| | Type of Securities/De | rivatives | | Quant | ity | Same type of Shares | Total |
| | Common Share Non-Voting Shar | | | - | 1,949 10,134 | 0.000 0.000 | |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco Saúde

Name: S.A CPF/CNPJ: 92.693.118/0001-60

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/DerivativesQuantity | Same type of Shares | | Total |
|--|---------------------|--------|--------|
| Common Shares 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares 0 | | 0.0000 | 0.0000 |
| G | Closing Balance | | |
| | % of participat | ion | |
| Type of Securities/DerivativesQuantity | Same type of Shares | | Total |
| Common Shares 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco SegPrev

Name: Investimentos Ltda CPF/CNPJ: 07.394.162/0001-09

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|------------------------------------|----------|---------------------|------------------|------------------|
| Common Shares Non-Voting Shares | 0 | | 0.0000 0.0000 | 0.0000 0.0000 |
| | Closin | g Balance | | |
| | | % of participa | tion | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco Seguros

Name: S.A CPF/CNPJ: 33.055.146/0001-93

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives Quant | tity | Same type of Shares | Total |
|--------------------------------------|------|---------------------|--------|
| Common Shares | 0 | 0.0 | 0.0000 |
| Non-Voting Shares | 0 | 0.0 | 0.0000 |
| • | | Closing Balance | |
| | | % of participation | |
| Type of Securities/Derivatives Quant | tity | Same type of Shares | Total |
| Common Shares | 0 | 0.0 | 0.0000 |
| Non-Voting Shares | 0 | 0.0 | 0.0000 |
| | | | |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesco Vida e

Name: Previdência S.A CPF/CNPJ: 51.990.695/0001-37

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | Total |
|--------------------------------|----------|---------------------|--------|
| Common Shares | 0 | | 0.000 |
| Non-Voting Shares | 0 | 0.0 | 0.0000 |
| | C | Closing Balance | |
| | | % of participation | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | Total |
| Common Shares | 0 | 0. | 0.0000 |
| Non-Voting Shares | 0 | 0.0 | 0.000 |
| | | | |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradescor Corretora de

Name: Seguros Ltda CPF/CNPJ: 43.338.235/0001-09

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|--------------------------------|----------|---------------------|--------|--------|
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |
| - | Clos | ing Balance | | |
| | | % of participat | tion | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradesplan

Name: Participações Ltda CPF/CNPJ: 61.782.769/0001-01

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|------------------------------------|----------|---------------------|------------------|------------------|
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 0.0000 | 0.0000 0.0000 |
| - | | Closing Balance | | |
| | | % of participa | tion | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradseg

Name: Participações S.A CPF/CNPJ: 02.863.655/0001-19

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives Quantity | Same type of Shares | | Total |
|---|----------------------------------|------------------|------------------|
| Common Shares 0 Non-Voting Shares 0 | | 0.0000 0.0000 | 0.0000 0.0000 |
| Non-voling Shares 0 | Closing Balance % of participati | | 0.0000 |
| Type of Securities/Derivatives Quantity | | OH | Total |
| Common Shares 0 Non-Voting Shares 0 | | 0.0000 0.0000 | 0.0000 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bradseg Promotora de

Name: Vendas S.A CPF/CNPJ: 10.428.992/0001-06

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | Total |
|---------------------------------|----------|-------------------------------------|--------|
| Common Shares Non-Voting Shares | 0 0 | 0.000 0.000 | |
| rten vennig enalee | | osing Balance % of participation | 0.0000 |
| Type of Securities/Derivatives | Quantity | 70 of participation | |
| Type of occurries/Derivatives | Quantity | Same type of Shares | Total |
| Common Shares | 0 | 0.000 | 0.0000 |
| Non-Voting Shares | 0 | 0.000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bram - Bradesco Asset

Name: Management S.A. DTVM CPF/CNPJ: 62.375.134/0001-44

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|---------------------------------|----------|---------------------|--------|------------------|
| Common Shares | 0 | (| 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | (| 0.0000 | 0.0000 |
| - | Closing | Balance | | |
| | _ | % of participation | n | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares Non-Voting Shares | 0 | | 0.0000 | 0.0000 0.0000 |
| | · | ` | | 3.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Bréscia Empreendimentos e

Name: Participações Ltda CPF/CNPJ: 08.427.630/0001-59

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|------------------------------------|----------|---------------------|--------|------------------|
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 | 0.0000 |
| Non voting onaics | | Balance | | 0.0000 |
| | | % of participation | n | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 | 0.0000 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Affinity

Name: Ltda CPF/CNPJ: 08.977.053/0001-79

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|-----------------------------------|----------|---------------------|--------|--------|
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |
| - | | Closing Balance | | |
| | | % of participation | n | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimento

Name: Imobiliário D166 Ltda CPF/CNPJ: 10.430.696/0001-40

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|------------------------------------|-------------------|---------------------|------------------|------------------|
| Common Shares Non-Voting Shares | 0 0 Closing | Balance | 0.0000 0.0000 | 0.0000 0.0000 |
| | Oloonig | % of participa | ation | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 0.0000 | 0.0000 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimento

Name: Imobiliário D167 Ltda CPF/CNPJ: 10.430.769/0001-01

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|------------------------------------|---------------------------|---------------------|------------------|------------------|
| Common Shares Non-Voting Shares | 0 0 Closin e | g Balance | 0.0000 0.0000 | 0.0000 0.0000 |
| | 0.00 | % of participa | ition | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D102 Ltda CPF/CNPJ: 14.310.249/0001-08

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|------------------------------------|----------|---------------------|--------|--------|
| Common Shares Non-Voting Shares | 0 | | 0.0000 | 0.0000 |
| Tion voing chares | Closing | Balance | 0.0000 | 0.0000 |
| | | % of participa | ıtion | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D103 Ltda CPF/CNPJ: 20.505.637/0001-47

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total | | |
|------------------------------------|----------|---------------------|--------|--------|--|--|
| Common Shares Non-Voting Shares | 0 | | 0.0000 | 0.0000 | | |
| Closing Balance | | | | | | |
| | | % of participa | ation | | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total | | |
| Common Shares | 0 | | 0.0000 | 0.0000 | | |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 | | |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D104 Ltda CPF/CNPJ: 20.505.627/0001-01

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|------------------------------------|--------------------|---------------------|--------|--------|
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 | 0.0000 |
| Non Voting Onares | Closing | Balance | 0.0000 | 0.0000 |
| | % of participation | | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D105 Ltda CPF/CNPJ: 20.505.621/0001-34

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total | |
|------------------------------------|--------------------|---------------------|------------------|------------------|--|
| Common Shares Non-Voting Shares | 0 | | 0.0000 0.0000 | 0.0000 0.0000 | |
| Non-voling Shares | Closing I | Balance | 0.0000 | 0.0000 | |
| | % of participation | | | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total | |
| Common Shares | 0 | | 0.0000 | 0.0000 | |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 | |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D106 Ltda CPF/CNPJ: 20.505.658/0001-62

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|------------------------------------|----------|---------------------|------------------|------------------|
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 0.0000 | 0.0000 0.0000 |
| | Closing | Balance | | |
| | | % of participa | ıtion | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D107 Ltda CPF/CNPJ: 20.505.963/0001-54

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|--------------------------------|--------------------|---------------------|--------|--------|
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |
| | Closing I | Balance | | |
| | % of participation | | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D108 Ltda CPF/CNPJ: 20.505.933/0001-48

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|---------------------------------|--------------------|---------------------|------------------|------------------|
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 0.0000 | 0.0000 0.0000 |
| | Closing | Balance | | |
| | % of participation | | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D109 Ltda CPF/CNPJ: 20.505.923/0001-02

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total | | |
|------------------------------------|----------|---------------------|------------------|------------------|--|--|
| Common Shares Non-Voting Shares | 0 | | 0.0000 0.0000 | 0.0000 | | |
| Closing Balance % of participation | | | | | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total | | |
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 0.0000 | 0.0000 0.0000 | | |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D110 Ltda CPF/CNPJ: 20.505.912/0001-22

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total | | |
|------------------------------------|----------|---------------------|------------------|------------------|--|--|
| Common Shares Non-Voting Shares | 0 | | 0.0000 0.0000 | 0.0000 | | |
| Closing Balance % of participation | | | | | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total | | |
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 0.0000 | 0.0000 0.0000 | | |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D111 Ltda CPF/CNPJ: 20.505.903/0001-31

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total | | |
|------------------------------------|----------|---------------------|------------------|------------------|--|--|
| Common Shares Non-Voting Shares | 0 | | 0.0000 0.0000 | 0.0000 | | |
| Closing Balance % of participation | | | | | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total | | |
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 0.0000 | 0.0000 0.0000 | | |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D112 Ltda CPF/CNPJ: 20.505.887/0001-87

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|------------------------------------|-----------|---------------------|------------------|------------------|
| Common Shares Non-Voting Shares | 0 | | 0.0000 0.0000 | 0.0000 0.0000 |
| Non-voling Shares | Closing I | Balance | 0.0000 | 0.0000 |
| | | % of participa | ation | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D113 Ltda CPF/CNPJ: 20.505.868/0001-50

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|------------------------------------|----------|---------------------|--------|--------|
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 | 0.0000 |
| Tion voing chares | Closing | Balance | 0.0000 | 0.0000 |
| | | % of participa | ıtion | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D114 Ltda CPF/CNPJ: 20.505.952/0001-74

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total | | |
|------------------------------------|----------|---------------------|------------------|------------------|--|--|
| Common Shares Non-Voting Shares | 0 | | 0.0000 0.0000 | 0.0000 0.0000 | | |
| Closing Balance | | | | | | |
| | | % of participa | ation | | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total | | |
| Common Shares | 0 | | 0.0000 | 0.0000 | | |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 | | |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D115 Ltda CPF/CNPJ: 20.505.943/0001-83

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|------------------------------------|--------------------|---------------------|--------|--------|
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 | 0.0000 |
| Tion voing chares | Closing | Balance | 0.0000 | 0.0000 |
| | % of participation | | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D116 Ltda CPF/CNPJ: 20.529.645/0001-23

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|------------------------------------|--------------------|---------------------|--------|--------|
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 | 0.0000 |
| Tion voing chares | Closing | Balance | 0.0000 | 0.0000 |
| | % of participation | | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D117 Ltda CPF/CNPJ: 20.529.636/0001-32

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|------------------------------------|--------------------|---------------------|------------------|------------------|
| Common Shares Non-Voting Shares | 0 | | 0.0000 0.0000 | 0.0000 0.0000 |
| G | Closing | Balance | | |
| | % of participation | | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D118 Ltda CPF/CNPJ: 20.529.620/0001-20

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|------------------------------------|--------------------|---------------------|--------|--------|
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 | 0.0000 |
| Tion voing chares | Closing | Balance | 0.0000 | 0.0000 |
| | % of participation | | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D119 Ltda CPF/CNPJ: 20.529.605/0001-81

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|------------------------------------|--------------------|---------------------|--------|--------|
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 | 0.0000 |
| Tion voing chares | Closing | Balance | 0.0000 | 0.0000 |
| | % of participation | | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D120 Ltda CPF/CNPJ: 20.529.600/0001-59

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|------------------------------------|--------------------|---------------------|------------------|------------------|
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 0.0000 | 0.0000 0.0000 |
| | Closing | Balance | | |
| | % of participation | | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D121 Ltda CPF/CNPJ: 20.529.584/0001-02

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|------------------------------------|--------------------|---------------------|--------|--------|
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 | 0.0000 |
| Tion Voling Chares | Closing | Balance | 0.0000 | 0.0000 |
| | % of participation | | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In November 2016 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

BSP Empreendimentos

Name: Imobiliários D122 Ltda CPF/CNPJ: 20.594.000/0001-74

Qualification: Controlled / Related Company

Openning Balance

| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
|------------------------------------|--------------------|---------------------|--------|--------|
| Common Shares Non-Voting Shares | 0 0 | | 0.0000 | 0.0000 |
| Tion Voling Chares | Closing | Balance | 0.0000 | 0.0000 |
| | % of participation | | | |
| Type of Securities/Derivatives | Quantity | Same type of Shares | | Total |
| Common Shares | 0 | | 0.0000 | 0.0000 |
| Non-Voting Shares | 0 | | 0.0000 | 0.0000 |

Edgar Filing: BANK BRADESCO - Form 6-K

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002